(S AUTOPARTS

HUB ASSEMBLIES AND WHEEL BEARINGS




(5 AUTOPARTS ©

{5 AUTOPARTS ®

3111148 91 SL/OS| SININOJWOD INLOWOLAY

p ey

{S AUTOPARTS®
\-I./J
DRIVE SHAFT

Ty
=
149 HS AAIAQ

o

,S1¥vdoLny £

-

AUTOMOTIVE COMPONENTS [SO/TS 16949 certified

AUTOPARTS “ T5°

AUTOPARTS ®

MUTOMOTIVE COMPONENTS

OTVE Conpo

AUTOMOTIVE GCOMPONENTS



Ao A\ S 2
WY _"i"‘f




L

;@




GENERAL INDEX

VEhiCIe INABX  oeeee i e e e e e page. I -X

Coding RUIE ..o Ppag e XT-XT

Hub Assemblies Basic Dimension Table-GSP to Dimension .......... page.001-021
Hub Assemblies Contents of Complete Kits .......ccooiiiiiiiiiiiiininns, page.022-029
Bearing Kits Basic Dimension Table-GSP to Dimension ................ page.030-038
Bearing Kits Contents of Complete Kits ..........coceevviiivviiieieeenne... page.039-045
APPIICALION e page.046-796
Cross Reference liSt ... page.797-813
PROTO e PAOE.814-922
New Applications (compared with catalogue 2015)..............cccoeeee. page.923-923
Not Longer Available..... ... page.924-924




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
ABARTH AUDI BMW

500C (312) 46 A6 AVANT (4G5, C7, 4GD) 88 X1 (E84) 118

ALFA ROMEO A7 (4GA) 88 X3 (E83) 118
145 (930) 46 A7 SPORTBACK (4GA, 4GF) 88 X5 (E53) 118
146 (930) a7 A8 (4D2, 4D8) 88 X5 (E70) 119
147 (937) 48 A8 (4E_) 89 X5 (F15, F85) 119
155 (167) 49 A8 (4H_) 90 X6 (E71, E72) 119
156 (932) 49 ALLROAD (4BH, C5) 90 X6 (F16, F86) 120
159 (939) 51 CABRIOLET (8G7, B4) 90 73 (E36) 120
159 SPORTWAGON (939) 52 COUPE (89, 8B) 91 Z3 (E36) M 120
164 (164) 52 Q3 (8U) 91 74 (E85) 121
166 (936) 53 Q5 (8R) 92 74 (E86) 121
168 (164) 53 Q7 (4L) 92 74 (E89) 121
4C (960) 53 R8 92 78 (E52) 121
4C SPIDER (960) 53 RS SPYDER 92 BUICK
BRERA 53 TT (833) 93 CENTURY 121
GIULIETTA (940) 54 TT (8N3) 93 CENTURY (4_35) 121
GT (937) 54 TT (FV3) 93 LE SABRE 121
GTV (916C ) 55 TT ROADSTER (8J9) 93 PARK AVENUE 121
MITO (955) 55 TT ROADSTER (8N9) 93 SKYLARK 121
SPIDER (916S_) 56 V8 (44_, 4C_) 94 CADILLAC
SPIDER (939) 56 BMW ALLANTE 121

AUDI 1 (E81) 94 DEVILLE 121

100 (44, 44Q, C3) 56 1 (E82) 95 ELDORADO 122
100 (4A, C4) 57 1 (E87) 95 ESCALADE 122
100 AVANT (44, 44Q, C3) 57 1 (E88) 96 FLEETWOOD 122
100 AVANT (4A, C4) 57 1 (F20) 96 SEVILLE 122
80 (89, 89Q, 8A, B3) 58 1 (F21) 96 SEVILLE Il (K) 122
80 (8C, B4) 58 2 (F22, F87) 97 XLR 122
80 AVANT (8C, B4) 59 2 (F23) 97 CHERY
90 (89, 89Q, 8A, B3) 59 2 Coupe (F22) 97 AMULET A15 122
Al (8X1, 8XF) 59 3 (E30) 97 CHEVROLET
Al (8XA, 8XK) 60 3 (E36) 97 AVALANCHE 122
Al SPORTBACK (8XA, 8XK) 61 3 (E46) 99 AVEO (T200) 122
A2 (820) 61 3 (E90) 100 AVEO (T250) 122
A3 (8L1) 61 3 (E92) 101 AVEO (T250, T255) 122
A3 (8P1) 62 3 (E93) 103 AVEO (T300) 123
A3 (8P7) 63 3 (F30, F35, F80) 103 BERETTA (1_37) 124
A3 (8PA) 63 3 COMPACT (E36) 104 CAPTIVA (C100, C140) 124
A3 (8V1) 65 3 COMPACT (E46) 104 CAVALIER 124
A3 (8V7) 65 3 GRAN TURISMO (F34) 104 CLASSIC 124
A3 CONVERTIBLE (8V7) 65 3 TOURING (E30) 105 COBALT 124
A3 LIMOUSINE (8VS) 65 3 TOURING (E36) 105 CORSICA (1_69) 124
A3 SPORTBACK (8PA) 66 3 TOURING (E46) 106 CORVETTE 124
A3 SPORTBACK (8VA) 66 3 TOURING (E91) 106 CORVETTE (C6) 125
A4 (8D2, B5) 67 3 TOURING (F31) 107 CRUZE (J300) 125
A4 (8E2, B6) 69 4 (F32, F82) 108 CRUZE (J305) 126
A4 (8EC, B7) 69 4 (F33, F83) 108 CRUZE STATION WAGON (J308) 126
A4 (8H7, B6, 8HE, B7) 70 4 Convertible (F33, F83) 109 EPICA (KL1) 126
A4 (8K2, BS) 71 4 Coupe (F32, F82) 109 EVANDA 127
A4 ALLROAD (8KH, B8) 72 4 GRAN (F36) 109 IMPALA 127
A4 AVANT (8D5, B5) 72 4 Gran Coupe (F36) 110 KALOS 127
A4 AVANT (8E5, B6) 74 5 (E34) 110 LACETTI 127
A4 AVANT (8ED, B7) 75 5 (E39) 110 LACETTI (J200) 127
A4 AVANT (8K5, B8) 76 5 (E60) 110 LACETTI / OPTRA (J200) 128
A5 (8F7) 76 5 (F10, F18) 112 LUMINA APV 128
A5 (8T3) 77 5 GRAN TURISMO (FO7) 112 MALIBU 128
A5 (8TA) 78 5 TOURING (E34) 113 MALIBU (V300) 128
A5 CONVERTIBLE (8F7) 78 5 TOURING (E39) 113 MATIZ (M200, M250) 128
A5 SPORTBACK (8TA) 79 5 TOURING (E61) 113 NUBIRA 128
A6 (4A, C4) 79 5 TOURING (F11) 114 OPTRA (1J)) 129
A6 (4B2, C5) 80 6 (E63) 115 OPTRA Estate 129
A6 (4F2, C6) 82 6 (E64) 115 ORLANDO (J309) 129
A6 (4G2, C7) 82 6 (F12) 115 PRIZM 129
A6 (4G2, C7, 4GC) 83 6 (F13) 116 SILVERADO 1500 129
A6 ALLROAD (4FH, C6) 84 6 GRAN (F06) 116 SILVERADO 2500 129
A6 ALLROAD (4GH) 84 7 (E32) 116 SILVERADO 3500 129
A6 ALLROAD (4GH, 4GJ) 84 7 (E38) 116 SPARK 129
A6 AVANT (4A, C4) 84 7 (E65, E66, E67) 116 SPARK (M300) 130
A6 AVANT (4B5, C5) 85 7 (E65,E66,E67) 117 SUBURBAN (GMT 900) 130
A6 AVANT (4F5, C6) 86 7 (FO1, F02, FO3, FO4) 117 TACUMA 130
A6 AVANT (4G5, C7) 87 8 (E31) 117 TAHOE (B2W) 130




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
CHEVROLET CITROEN DAIHATSU
TRAILBLAZER (KC_) 130 EVASION (22, U6) 158 CUORE VI (L7) 193
TRAX 130 JUMPER 158 CUORE VI (L251) 193
VIVANT 130 JUMPER (230) 158 CUORE VIII 193
CHRYSLER JUMPER (244) 159 EXTOL 193
300C 130 JUMPY 159 EXTOL (S22_, S23.) 193
300 C (LX) 130 JUMPY (BS_, BT_, BY_, BZ) 159 GRAN MOVE (G3) 193
300 C TOURING (LX) 131 NEMO 159 MATERIA (M4.) 193
300 M (LR) 131 NEMO (AA_) 159 MOVE (L6, L9) 193
CIRRUS 131 RELAY 159 SIRION (M1) 193
GRAND VOYAGER V (RT) 131 RELAY (230) 160 SIRION (M3_) 193
NEON (PL) 131 RELAY (230L) 161 TERIOS (J1) 194
NEON i 132 RELAY (230P) 164 TERIOS (J2_) 194
PACIFICA 132 RELAY (244) 166 TREVIS 194
PT CRUISER 132 RELAY (244, Z) 167 YRV (M2) 194
PT CRUISER (PT_) 132 RELAY VNA 168 DODGE
SEBRING (JR) 133 SAXO (S0, S1) 168 AVENGER 194
SEBRING (JS) 133 SYNERGIE (22, U6) 169 CALIBER 194
STRATUS (JA) 133 XANTIA (X1) 170 CARAVAN 195
STRATUS (IX) 133 XANTIA (X2) 171 CARAVAN (RG_) 195
TOWN & COUNTRY 133 XM (Y3) 173 CHALLENGER 195
VOYAGER Il (ES) 133 XM (Y4) 173 CHARGER 196
VOYAGER Il (GS) 133 XSARA 174 DAKOTA 196
VOYAGER il (RG, RS) 134 XSARA (NO) 174 DURANGO 196
CITROEN XSARA (N1) 176 GRAND CARAVAN 196
AX (ZA-) 134 XSARA (N2) 178 JOURNEY 196
BERLINGO 134 XSARA PICASSO (N68) 181 NEON 196
BERLINGO (B9) 136 ZX (N2) 182 NEON I 196
BERLINGO (M_) 136 DACIA NITRO 197
BERLINGO (MF) 138 DOKKER 184 RAM 1500 197
BX (XB- ) 140 DOKKER EXPRESS 184 RAM 1500 PICKUP (D1, DC, DH, DM, DR) 197
BX BREAK (XB-_) 140 DUSTER 184 RAM 2500 197
C1(PM_, PN) 140 LODGY 184 RAM 2500 PICKUP (D1, DC, DH, DM, DR) 197
cil 140 LOGAN (LS_) 184 RAM 3500 197
ci5 140 LOGAN (US_) 186 STRATUS 197
C15 (VD-)) 140 LOGAN EXPRESS (FS ) 186 FIAT
C2 (M) 140 LOGAN II 187 500 197
C2 ENTERPRISE 141 LOGAN MCV (KS_) 187 500 (312) 198
C25 (280_, 290 ) 141 LOGAN MCV Ii 188 500 C 198
C31(FC) 141 NOVA 188 500 C (312) 198
c3l 142 SANDERO 188 500L 198
C3 PICASSO 143 SANDERO || 189 BARCHETTA (183) 198
C3 PLURIEL (HB_) 144 SOLENZA 189 BRAVA (182) 199
ca 144 SUPERNOVA 189 BRAVO | (182) 200
ca(LA) 144 DAEWOO BRAVO Il (198) 201
C4 AIRCROSS 146 CIELO 189 BRAVO VAN (198) 202
C4 CACTUS 146 ESPERO (KLEJ) 190 CINQUECENTO (170) 202
C4 GRAND PICASSO | (UA ) 146 EVANDA (KLAL) 190 COUPE (FA/175) 202
C4 GRAND PICASSO I 147 KALOS (KLAS) 190 CROMA (154) 203
ca1(LC) 147 LACETTI (J200) 190 CROMA (194) 203
call (B7) 148 LACETTI (KLAN) 190 DOBLO (119) 203
C4 PICASSO | (UD.) 149 LANOS (KLAT) 190 DOBLO (152) 204
C4 PICASSO Il 150 LEGANZA (KLAV) 191 DOBLO (152, 263) 204
C51(DC.) 150 MATIZ (KLYA) 191 DOBLO (263) 204
C51(DE.) 150 NEXIA (KLETN) 191 DOBLO CARGO (223) 206
C511 (RC.) 150 NUBIRA 191 DOBLO MPV (223, 119) 206
C5 Il BREAK (RE.) 151 NUBIRA (KLAJ) 191 DUCATO (230) 206
C5 1l (RD_) 151 NUBIRA (KLAN) 192 DUCATO (230L) 212
C5 IIl BREAK (TD_) 152 NUBIRA WAGON (KLAJ) 192 DUCATO (244) 214
C6 (TD.) 152 NUBIRA WAGON (KLAN) 192 DUCATO (244, Z_) 216
C8 (EA_, EB.) 152 TACUMA (KLAU) 192 DUCATO (250) 217
C-CROSSER (EP.) 153 TICO (KLY3) 192 DUCATO (250, 290) 218
C-CROSSER ENTERPRISE 153 DAIHATSU DUCATO (290) 218
C-ELYSEE 153 APPLAUSE II (A101) 192 DUCATO 250) 219
DISPATCH 153 BEGO 192 DUCATO PANORAMA (290) 219
DISPATCH (BU_, BV, BW_, BX_) 154 CHARADE 192 FIORINO (146) 219
DISPATCH (U6U) 154 CHARADE (L2) 193 FIORINO (225) 219
DISPATCH VAN (BS_, BT_, BY_, BZ) 154 CHARADE Il (G100, G101, G102) 193 FREEMONT (JF.) 219
DISPATCH VAN (BU_, BV_, BW_, BX_) 154 CHARADE Il (G102) 193 GRANDE PUNTO (199) 220
DS3 155 CHARADE IV (G200, G202) 193 IDEA 220
DS4 157 CHARADE IV (G203) 193 LINEA (323) 220
DS5 157 COPEN 193 MAREA (185) 221




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE

FIAT FORD FORD USA
MAREA WEEKEND (185) 222 F-250 249 EXPLORER (UN46) 278
MULTIPLA (186) 223 F-250 SUPER DUTY 249 MUSTANG 278
PALIO (178BX) 224 FALCON (FG) 250 MUSTANG (C) 278
PALIO WEEKEND (178DX) 225 FALCON AU1, AU2,AU3, BA 250 TAURUS (P5_) 279
PANDA (141A ) 226 FIESTA 250 TAURUS WAGON (P5_) 279
PANDA (169) 226 FIESTA Il (GFJ) 250 WINDSTAR (A3) 279
PANDA (312, 319) 227 FIESTA IV (JA_, JB) 250 GEO
PANDA VAN (141_) 227 FIESTAV (JH_, JD.) 251 PRIZM 279
PANDA VAN (169) 227 FIESTA V VAN 251 GM/DAEWOO
PANDA VAN (312) 228 FIESTA VAN 251 LEGANZA 5BOLT TYPE 279
PANDA VAN(169) 228 FIESTA VI 252 GMC
PUNTO (176) 228 FIESTA VI VAN 252 SIERRA 3500 279
PUNTO (176C) 229 FOCUS (DAW, DBW) 253 HAFEI
PUNTO (188) 229 FOCUS (DFW) 254 LOBO / LUBAO 279
PUNTO (199) 220 FOCUS (DNW) 254 HOLDEN
PUNTO / GRANDE PUNTO (199) 231 FOCUS C-MAX 255 COMMODORE (VE) 279
PUNTO EVO (199) 231 FOCUS II 256 COMMODORE (VR-VS) 279
PUNTO VAN (176L) 232 FOCUS Il (DA ) 256 COMMODORE (VT) SERIES II, VX VY VU 279
PUNTO VAN (188AX) 232 FOCUS Il STATION WAGON (DA ) 258 COMMODORE (VT) SERIES | 279
PUNTO VAN (199) 232 FUSION (JU_) 258 HONDA
QUBO (225) 233 GALAXY 259 ACCORD 279
SCUDO (220L) 233 GALAXY (WA®6) 259 ACCORD IV (CB) 279
SCUDO (270_) 233 GALAXY (WGR) 259 ACCORD IV (CC1) 280
SCUDO (272, 270) 233 GRANADA Il (GAE, GGE) 259 ACCORD V (CC7, CD) 280
SCUDO COMBINATO (220P) 233 GRANADA IIl (GGE) 260 ACCORD V (CD7, CD9) 280
SEDICI 234 KA 260 ACCORD V (CE) 280
SEICENTO (187) 234 KA (RB_) 260 ACCORD VI (CE, CF) 280
SEICENTO / 600 (187) 234 KA VAN (RB) 261 ACCORD VI (CG, CK) 280
SEICENTO VAN (187) 234 KUGA | 261 ACCORD VI (CG) 280
SIENA 234 KUGA Il (DM2) 261 ACCORD VI (CG, CK) 280
SIENA (178.) 234 MAVERICK (UDS, UNS) 261 ACCORD VI (CH) 281
STILO (192) 235 MONDEO (BNP) 261 ACCORD VIl (CL) 281
STILO MULTI WAGON (192) 236 MONDEO (GBP) 261 ACCORD VII (CM) 281
STRADA (178E) 237 MONDEO | (BNP) 262 ACCORD VII (CP) 281
STRADA (578) 237 MONDEQO | (GBP) 262 ACCORD VIl TOURER (CM) 281
TEMPRA (159) 237 MONDEQO Il (BAP) 262 ACCORD VIlI 281
TEMPRA S.W. (159) 238 MONDEQO Il (BFP) 263 ACCORD Vil (CU) 281
TIPO (160) 239 MONDEO Il (BNP) 263 AVANCIER 282
ULYSSE (179AX) 240 MONDEQ Il (B4Y) 263 cITY 282
ULYSSE (220) 241 MONDEQO il (B5Y) 264 CITY (GM) 282
UNO (146A/E) 241 MONDEO il (BWY) 264 CIVIC IV (EG) 282

FORD MONDEO IV 264 CIVIC IV (EG, EH) 282
B-MAX 241 MONDEQO IV (BA7) 265 CIVIC IV (MA, MB) 282
B-MAX (JK) 242 MONDEO IV TURNIER 265 CIVIC IX (FB, FG) 282
B-MAX VAN 242 ORION Il (GAL) 266 CIVIC IX (FK) 282
C-MAX 242 PUMA (EC_) 266 CIVIC IX TOURER (FK) 283
C-MAX (DM2) 242 RANGER 267 CIVIC V (EG, EH) 283
COUGAR (EC ) 242 RANGER (TU_) 267 CIVIC V (EJ, EK) 283
COURIER (F3L, F5L) 243 SCORPIO | (GGE) 267 CIVIC V (MB, MC) 283
COURIER (J5_, J3_) 243 SCORPIO Il (GFR, GGR) 267 CIVIC VI (EJ, EK) 283
COURIER (JV_) 243 SIERRA (BNG) 267 CIVIC VI (EJ, EM1) 283
CROWN VICTORIA 243 SIERRA (GBC, GBG) 267 CIVIC VIl (EM2) 284
ECOSPORT 243 SIERRA (GBG, GB4) 268 CIVIC VII (ES) 284
ESCORT '91 EXPRESS (AVL) 243 S-MAX 268 CIVIC VII (EU, EP, EV) 284
ESCORT '95 (AVL) 244 S-MAX (WAB) 269 CIVIC VIII (FD, FA) 284
ESCORT CLASSIC (AAL, ABL) 244 STREET KA 269 CIVIC VIII (FN, FK) 285
ESCORT CLASSIC TURNIER (ANL) 244 TOURNEO CONNECT 269 CIVICK IV (EJ) 285
ESCORT V (ALL) 244 TOURNEO COURIER Kombi 269 CROSSROAD 285
ESCORT V (GAL) 244 TRANSIT 269 CR-V 285
ESCORT V (GAL, AVL) 245 TRANSIT (E_ ) 273 CR-V | (RD) 285
ESCORT VI (ALL) 245 TRANSIT (FA_ ) 274 CR-V Il (RD.) 285
ESCORT VI (GAL) 245 TRANSIT (FD__,FB__,FS__,FZ__,FC__) 274 CR-V Ill (RE) 286
ESCORT VI (ALL) 247 TRANSIT (FM__, FN__) 275 CR-V IV (RE) 286
ESCORT VI (GAL, AAL, ABL) 247 TRANSIT CONNECT (P65_, P70_, P80 ) 276 CRX Ill (EH, EG) 286
ESCORT VI (GAL, AFL) 248 TRANSIT COURIER 276 CR-Z (ZF1) 286
EXCURSION 249 TRANSIT COURIER Kombi 276 ELEMENT 286
EXPEDITION 249 TRANSIT TOURNEO 276 ELYSION 286
EXPLORER 249 TRANSIT VAN (E__) 277 FR-V (BE) 287
EXPLORER SPORT TRAC 249 TRANSIT VAN (FA_ ) 277 HR-V (GH) 287
F-150 249 FORD USA INSIGHT (ZE) 287
F-150 HERITAGE 249 EXPLORER (U2) 278 INSIGHT (ZE_) 287




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
HONDA HYUNDAI KIA

JAZZ Il (GD) 287 PONY / EXCEL (X-2) 304 CADENZA 319
JAZZ Il (GE) 287 S (SLC) 305 CARENS | (FC) 319
LEGEND Il (KA9) 287 SANTA FE | (SM) 305 CARENS Il (FJ) 319
LEGEND IV (KB_) 287 SANTA FE Il (CM) 305 CARENS Il (UN) 319
LOGO (GA3) 287 SANTA FE Iil (DM) 305 CARENS IV 320
MOBILIO 287 SANTAMO 306 CARNIVAL / GRAND CARNIVAL il (VQ) 320
ODYSSEY Il (LHD) 288 SONATA 306 CARNIVAL | (UP) 320
ODYSSEY Il (RHD) RB1 / RB2 288 SONATA (Y-2) 306 CEE'D 320
ODYSSEY IV (RHD) RB3 / RB4 288 SONATA Il (Y-3) 306 CEE’'D SPORTSWAGON (JD) 320
PILOT 288 SONATA IIl (EF) 306 CEED 320
PRELUDE IV (BB) 288 SONATA i1l (Y-3) 307 CEE'D (ED) 321
PRELUDE V (BB) 288 SONATA IV (EF) 307 CEE'D (JD) 322
$2000 (AP) 288 SONATA V (NF) 307 CERATO (LD) 322
SHUTTLE (RA) 288 SONATA VI (YF) 308 CERATO I (TD) 323
STEPWGN (DBA-RK_) 288 SONATA VII (LF) 308 CLARUS (GC) 323
STREAM (RN) 288 TERRACAN (HP) 308 CLARUS (K9A) 323

HUMMER TRAJET (FO) 308 JOICE 323
HUMMER H2 SUT 288 TUCSON 308 K3 323
HUMMER H3 288 TUCSON (IM) 308 K3 (TD) 323

HYUNDAI TUCSON (TLE) 309 K3 Il (TD) 323
ACCENT (LC) 288 VELOSTER (FS) 309 K5 323
ACCENT (MC) 289 XG (XG) 309 MAGENTIS (GD) 324
ACCENT (X-3) 289 XG350 310 MAGENTIS (MG) 324
ACCENT I (X-3) 290 INFINIT! MENTOR (FA) 324
ACCENT Ii (LC) 290 FX 310 OPIRUS (GH) 325
ACCENT I1l (MC) 291 G 310 OPTIMA 325
ACCENT IV (RB) 291 130 310 PICANTO (BA) 325
AMICA (MX) 292 M (Y51) 310 PICANTO (TA) 325
AMICA / ATOZ (MX) 292 M35 310 PRIDE 325
ATOS (MX) 292 M35 / 45 (Y50) 310 PRIDE (DA) 325
ATOS PRIME (MX) 292 M37 310 PRO CEED (JD) 325
COUPE (RD) 292 Q50 310 PRO CEED 325
ELANTRA (HD) 292 Q70 (Y51) 310 PRO CEED (ED) 326
ELANTRA (MD, UD) 293 QX50 310 RIO (DC) 326
ELANTRA (XD) 293 QX70 311 RIO (DC ) 326
EQUUS 295 ISUZU RIO Il (JB) 327
EQUUS NEW 295 ASCENDER 311 RIO Il (UB) 327
GALLOPER | 295 IVECO RONDO 327
GENESIS 295 DAILY CITYS 311 SEDONA Il (GQ) 327
GETZ (TB) 296 DAILY II 311 SEDONA Il (VQ) 328
GRAND SANTA FE 296 DAILY 1li 312 SHUMA (FB) 328
GRANDEUR (HG) 296 DAILY IV 314 SHUMA Il (FB) 328
GRANDEUR (TG) 296 DAILY IV DUMPTRUCK 315 SORENTO | (JC) 328
GRANDEUR NEW 297 DAILY LINE 315 SORENTO Il (XM) 329
GRANDEUR TG(AZERA) 297 DAILY TOURYS 315 SouL 329
GRANDEUR XG 297 DAILY VI 315 SOUL (AM) 329
H-1 297 JAGUAR SOUL Il (PS) 329
H-1/ STAREX 297 S-TYPE (CCX) 316 SPORTAGE 329
H-1 CARGO (TQ) 297 XF (_J05_, CC9) 316 SPORTAGE (JE_) 329
H-1 TRAVEL (TQ) 297 XJ (X350, X358) 316 SPORTAGE (K00) 330
H100 297 XK (_J43.) 316 SPORTAGE (SL) 330
H100 (P) 297 XK (QQ6_, J43.) 316 SPORTAGE NEW 331
i10 (PA) 298 XK 8 (QDV) 316 VENGA (YN) 331
i20 298 XK 8 (QEV) 316 LADA
i20 (GB) 298 X-TYPE 316 NIVA (2121) 331
i20 (PB, PBT) 298 X-TYPE (CF1) 317 SAMARA (2108, 2109) 331
i30 (FD) 298 JEEP SAMARA FORMA (21099) 331
i30 (GD) 299 CHEROKEE (KJ) 317 LANCIA
i30 CW (FD) 299 CHEROKEE (KK) 318 DEDRA (835) 331
i30 CW (GD) 300 CHEROKEE (XJ) 318 DELTA Il (836) 333
140 (VF) 300 COMMANDER (XK) 318 DELTA IIl (844) 334
i40 CW (VF) 300 COMPASS (MK49) 318 FLAVIA (JS) 334
ix20 (JC) 300 GRAND CHEROKEE (2J) 318 KAPPA (838) 334
ix35 (LM, EL, ELH) 301 GRAND CHEROKEE Il (WJ, WG) 318 KAPPA (838A) 334
iX55 301 GRAND CHEROKEE IIl (WH, WK) 318 KAPPA (838B) 335
LANTRA (GK) 301 PATRIOT (MK74) 319 LYBRA (839AX) 335
LANTRA (J-1) 302 WRANGLER (YJ, SJ_) 319 LYBRA (839BX) 335
LANTRA (RD) 302 WRANGLER I (TJ) 319 LYBRA SW (839BX) 335
LANTRA I (3-2) 302 WRANGLER 1l (JK) 319 MUSA (350) 336
LANTRA Il WAGON (J-2) 304 KIA PHEDRA (179) 336
MATRIX (FC) 304 AVELLA 319 THEMA (834) 336




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
LANCIA MAZDA MERCEDES BENZ
THEMA (LX) 337 6 (GH) 351 E-CLASS (W210) 375
THESIS (841AX) 337 6 (GJ, GH) 352 E-CLASS (W211) 377
VOYAGER (RT) 337 6 GG 352 E-CLASS (W212) 378
Y (840A) 337 6 GH 352 E-CLASS T-MODEL (S211) 379
Y10 (156) 338 6 MPS GG 352 E-CLASS T-MODEL (S212) 380
YPSILON (843) 338 6 STATION WAGON (GY) 352 G-CLASS (W461) 381
YPSILON (846) 338 6 WAGON GH 352 G-CLASS (W463) 381
ZETA (220) 338 6 WAGON GY 352 G-CLASS CABRIO (W463) 382
LAND ROVER 626 111 (GV) 352 GL-CLASS (X164) 382
LR3 339 626 IV (GE) 352 GL-CLASS (X166) 383
LR4 339 626 V (GF) 353 GLE (C292) 383
RANGE ROVER SPORT 339 626 V (GW) 353 GLE (W166) 383
DEFENDER (LD_) 339 ATENZA (GJ, GH) 354 GLK-CLASS (X204) 383
DEFENDER CABRIO (LD) 339 ATENZA GG 354 KOMBI (S124) 383
DEFENDER STATION WAGON (LD) 339 B3000 354 M-CLASS (W163) 383
DISCOVERY (LJ, LG) 339 B4000 354 M-CLASS (W164) 384
DISCOVERY Il (LJ, LT) 339 B-SERIE (UF) 354 M-CLASS (W166) 384
DISCOVERY Il (TAA) 339 B-SERIE (UN) 354 R-CLASS (W251, V251) 384
DISCOVERY IV (LA) 340 BT-50 (CD, UN) 354 SALOON (W124) 384
FREELANDER (LN) 340 CX-5 (KE, GH) 354 S-CLASS (C140) 384
FREELANDER 2 (FA_) 340 CX-7 (ER) 355 S-CLASS (C215) 385
FREELANDER SOFT TOP 340 CX-7 ER 355 S-CLASS (C216) 385
RANGE ROVER (AE, AN, HAA, HAB, HAM, HBM, RE, RN) 340 CX-9 (TB) 355 S-CLASS (W140) 385
RANGE ROVER Il (LP) 340 DEMIO (DW) 355 S-CLASS (W220) 386
RANGE ROVER SPORT (LS) 340 E-SERIE (SR2) 355 S-CLASS (W221) 386
RANGE ROVER SPORT (LW) 341 MPV Il (LW) 355 SL (R129) 387
LEXUS MPV LY 355 SL (R230) 387
CT (ZWA1)) 341 MX-3 (EC) 355 SL (R231) 387
ES (AVV6_, GSV6_, ASV6_) 341 MX-5 (NA) 356 SLK (R170) 387
ES (GSV4_, ACV4)) 341 MX-5 1 (NA) 356 SLK (R171) 388
ES (MCV_, VZV_) 341 MX-5 1I (NB) 356 SLK (R172) 388
GS (GRL1_, GWL1) 341 MX-5 11l (NC) 356 SLS AMG (A197) 388
GS (GRS19_, UZS19_, GWS19 ) 341 MX-6 (GE) 356 SPRINTER 2-T (901, 902) 388
GX (URJ15) 342 PREMACY (CP) 356 SPRINTER 3,5 (906) 390
IS C (GSE2) 342 RX 8 (SE17) 357 SPRINTER 3,5-T (906) 391
IS1(JCEL1_, GXEL1 ) 342 XEDOS 6 (CA) 357 SPRINTER 3,5-T (906) 391
IS I (GSE2_, ALE2_, USE2 ) 342 XEDOS 9 (TA) 357 SPRINTER 3-T (903) 392
IS Il (GSE3_, AVE3 ) 342 MERCEDES BENZ SPRINTER 3-T (906) 394
LS (UCF30) 342 100 (631) 357 SPRINTER 4,6-T (906) 395
LX (URJ201) 342 190 (W201) 357 SPRINTER 4-T (904) 396
NX (ZGZ1_, AGZ1_, AYZ1)) 343 A-CLASS (W168) 357 SPRINTER 5-T (906) 398
RX (GGL1_, GYLL1_, AGL1 ) 343 A-CLASS (W169) 358 SPRINTER CLASSIC 3,5-T (909) 399
RX (GYL1_, GGL15, AGL10) 343 B-CLASS (W245) 358 SPRINTER CLASSIC 4,6-T (909) 399
RX (MCU15) 343 CABRIOLET (A124) 359 T1 (602) 399
RX (MHU3_, GSU3_, MCU3_) 343 C-CLASS (C204) 359 VANEO (414) 399
LINCOLN C-CLASS (CL203) 359 V-CLASS (638/2) 400
AVIATOR 343 C-CLASS (S202) 360 VIANO (W639) 400
MARK LT 343 C-CLASS (W202) 361 VITO (638) 400
NAVIGATOR 343 C-CLASS (W203) 362 VITO (W639) 400
TOWN CAR 343 C-CLASS (W204) 363 VITO / MIXTO (W639) 401
MAZDA C-CLASS T-MODEL (S203) 365 MERCURY

12111 (DB) 344 C-CLASS T-MODEL (S204) 366 GRAND MARQUIS 402
121 lli (JASM, JBSM) 344 CITAN (415) 367 MOUNTAINEER 402

2 (DE) 344 CITAN COMBI (415) 367 MG
2 (DY) 344 CITAN MIXTO (415) 367 MG ZR 402
3 (BK) 345 CLC-CLASS (CL203) 367 MG Zs 402
3(BL) 345 CLK (A208) 368 MG ZT 402
3 (BM) 346 CLK (A209) 368 MG ZT-T 402

323 C IV (BG) 346 CLK (C208) 369 MINI
323 CV (BA) 346 CLK (C209) 369 MINI (R50, R53) 403
323 F IV (BG) 347 CLS (C218) 370 MINI (R52) 403
323 F V (BA) 347 CLS (C219) 370 MINI (R56) 404
323 F/P VI (BJ) 347 CLS SHOOTING BRAKE (X218) 371 MINI (R57) 404
323111 (BW) 348 COUPE (C124) 371 MINI (R58) 405
323 PV (BA) 348 E-CLASS (A124) 371 MINI CLUBMAN (R55) 405
323S 1V (BG) 348 E-CLASS (A207) 372 MINI COUNTRYMAN (R60) 405
323 SV (BA) 348 E-CLASS (C124) 372 MINI PACEMAN (R61) 406
323 S VI (BJ) 349 E-CLASS (C207) 372 MINI ROADSTER (R59) 406

5 (CR19) 350 E-CLASS (S124) 373 MITSUBISHI

5 (Cw) 350 E-CLASS (S210) 373 3000 GT (Z16A) 406
6 (GG) 350 E-CLASS (W124) 374 ASX (GA_W_) 406




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
MITSUBISHI NISSAN NISSAN

ASX VAN (GA_ W) 406 370 Z ROADSTER (Z34) 420 SUNNY IV 436
CARISMA (DA ) 407 ALMERA (N15) 420 SUNNY NEO 436
CHALLENGER (K90) 408 ALMERA | (N15) 421 SYLPHY (C13) 436
COLT CZC (RG) 408 ALMERA Il (N16) 421 TEANA | (J31) 436
COLT Il (C5_A) 408 ALMERA TINO (V10) 423 TEANA 11 (J32) 436
COLT IV (CA_A) 408 ALTIMA 423 TERRANO (WD21) 436
COLT V (CJ_, CP.) 408 ARMADA 423 TERRANO I (R20) 436
COLT VI (Z3_A, Z2_A) 408 AVENIR 423 TIIDA (SC11X) 436
DELICA (PO_W, P1_W, PO_V, P1_V, P_2V, P2_W) 409 BASSARA JU30 424 TIIDA (C11X) 436
DELICA (PO_W, P1_W, P2_W) 409 CEDRIC X (Y34) 424 TIIDA (SC11X) 437
ECLIPSE (D2_A) 409 CEFIRO | (J31) 424 TITAN 437
ECLIPSE Il (D3_A) 409 CUBE (z11) 424 URVAN (E25) 437
ECLIPSE IV (DK_A) 409 CUBE (Z12) 424 VANETTE (C22) 437
GALANT (DJ_, ED_, EF ) 409 ELGRAND (E51) 424 X-TRAIL (T30) 437
GALANT IV (E3_A) 409 FUGA Y50 424 X-TRAIL (T31) 438
GALANT V (E5_A, E7_A, E8_A) 409 INTERSTAR (X70) 424 NISSAN DF 393
GALANT VI (EA ) 410 JUKE (F15) 424 TEANA (J32) 438
GRANDIS (NA_W) 412 KUBISTAR 425 TIIDA QIDA (C11) 438
L 200 (K7_T, K6_T) 412 KUBISTAR (X76) 425 TIIDA YIDA (C11) 438
L 200 (KA_T, KB_T) 412 LAFESTA 425 OLDSMOBILE
L 200 (KB_T, KA_T) 412 LEAF 425 ALERO 439
L 300 (PO_W, P1_W, P2_W) 412 LIVINA / GRAND LIVINA (L10, L11) 426 CUTLASS SUPREME 439
L 400 (PD_W, PC_W, PB_V, PA_W, PA_ V) 412 MAXIMA QX (A32) 426 OPEL
L 400 / SPACE GEAR (PD_W, PC_W, PA_V, PB_V) 412 MAXIMA QX (A33) 426 ADAM 439
LANCER (CS_A) 412 MAXIMA STATION WAGON 426 AGILA (A) (HOO) 439
LANCER (CS_A, CT0) 413 MICRA C+C (K12) 426 AGILA (B) (H08) 439
LANCER (CS_W) 413 MICRA Il (K11) 426 ANTARA 440
LANCER (CX_A) 413 MICRA IIl (K12) 426 ASTEA H (L48) 440
LANCER (CY/Z_A) 413 MICRA IV (K13) 427 ASTRAF (51_,52) 440
LANCER Il (C1_V, C3_V) 414 MURANO (Z50) 427 ASTRAF (53_, 54_, 58_, 59_) 443
LANCER IV (C6_A) 414 MURANO (Z51) 427 ASTRA F (53_B) 445
LANCER IV (C6_A, C7_A) 414 MYRANO (Z51) 427 ASTRAF (56_, 57_) 446
LANCER SPORTBACK (CX_A) 414 NAVARA (D21) 427 ASTRA F CLASSIC 449
LANCER V (CB/D_A) 415 NAVARA (D40) 427 ASTRA F VAN (55_) 449
LANCER V STATION WAGON (CB_W, CD_W) 415 NOTE (E11) 428 ASTRA G 450
LANCER VI (CJ-CP_) 415 NOTE (E12) 428 ASTRA G (F07) 450
OUTLANDER | (CU_W) 415 NV200 428 ASTRA G (F35_) 451
OUTLANDER Il (CW_W) 415 NV200 / EVALIA 428 ASTRA G (F48_, F08_) 452
OUTLANDER Il VAN (CW_W) 416 NV200 EVALIA 428 ASTRA G (F69_) 453
OUTLANDER Ill (GG_W, GF_W, ZJ) 416 NV400 428 ASTRA G (F70) 455
OUTLANDER Il VAN (GF_W, GG_W) 416 PATHFINDER (R50) 429 ASTRA GTC J 455
PAJERO / SHOGUN (L04_G, L14_G) 416 PATHFINDER (R51) 429 ASTRA H (L35) 455
PAJERO / SHOGUN (V2_W, V4_W) 416 PATROL GR (Y60, GR) 429 ASTRA H (L48) 457
PAJERO / SHOGUN CLASSIC (V2_W) 417 PATROL GR Il (Y61) 429 ASTRA H (L69) 458
PAJERO / SHOGUN Il (V3_W, V2_W, V4_W) 417 PICK UP (D22) 429 ASTRA H GTC (L08) 458
PAJERO / SHOGUN 11l (V6_W, V7_W) 417 PICK UP Il (D22) 429 ASTRA H SPORP HATCH (L08) 458
PAJERO / SHOGUN Il (V7_W, V6_W) 417 PIXO (UAO) 429 ASTRA H TWINTOP (L67) 460
PAJERO / SHOGUN IV (V8_W, V9_W) 417 PRAIRIE PRO (M11) 429 ASTRA H VAN (L70) 460
PAJERO CLASSIC (V2_W) 417 PRESAGE U30 429 ASTRAJ 461
PAJERO Il (V6_W, V7_W) 418 PRIMASTAR (X83) 430 ASTRA J SPORTS TOURER 462
PAJERO Il (V7_W, V6_W) 418 PRIMASTAR VAN (X83) 430 CALIBRA A (85_) 463
PAJERO Il CANVAS TOP (V6_W, V7_W) 418 PRIMERA (P10) 430 CASCADA (W13) 463
PAJERO IV (V8_W, V9_W) 418 PRIMERA (P11) 431 COMBO 463
PAJERO MINI (H5_A) 418 PRIMERA (P12) 432 COMBO (71_) 464
PAJERO SPORT Il (KH_, KG_) 418 PRIMERA (WP12) 432 COMBO (X12) 464
RAIDER 418 PRIMERA TRAVELLER (W10) 433 COMBO TOUR 464
SHOGUN PININ (H6_W, H7_W) 418 PRIMERA TRAVELLER (WP11) 433 COMBO TOUR (X12) 465
SIGMA (F2_A, F1_A) 418 QASHQAI / QASHQAI +2 (J10, JJ10) 433 CORSAA (93_,94_,98_,99 ) 465
SIGMA STATION WAGON (FO_W) 418 QUEST (V42) 433 CORSA B (73.) 466
SPACE RUNNER (N1_W, N2_W) 418 R-NESSA N30 434 CORSAB (73_,78_,79.) 466
SPACE STAR (DG_A) 418 SENTRA IV (B14) 434 CORSA B (F35) 467
SPACE WAGON (N3_W, N4_W) 419 SENTRA V (B15) 434 CORSA C (F08, F68) 467
SPACE WAGON (N9_W, N8_W) 419 SKYLINE (R33) 434 CORSA C (F08, W5L) 467

NISSAN SKYLINE (R34) 434 CORSA D 468
100 NX (B13) 419 SKYLINE (V35) 434 CORSA D VAN 469
200 SX (S13) 419 STAGEA (M35) 434 CORSAE 469
200 SX (S14) 419 STAGEA (WC34) 434 CORSA E VAN 470
240 SX 419 SUNNY (Y10) 434 GT 470
350 Z (Z33) 419 SUNNY Il 434 INSIGNIA 470
350 Z ROADSTER (Z33) 420 SUNNY 11l (N14) 434 INSIGNIA SPORTS TOURER 471
370 Z (Z34) 420 SUNNY il (Y10) 436 KADETT E (33_, 34_, 43_, 44_) 472




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
OPEL PEUGEOT RAM

KADETT E (35_, 36_, 45_, 46_) 472 307 (3E) 511 DAKOTA 544
KADETT E (37_,47.) 472 307 (3H) 512 RENAULT
KADETT E (39_, 49.) 472 307 CC (3B) 513 19 (D53_) 544
KADETT E (43B_) 473 307 SW (3H) 514 19 (L53.) 545
KADETT E COMBO (38_, 48_) 473 308 514 191 (B/C53.) 545
MERIVA 473 308 (4A_, 4C_) 514 19 | CABRIOLET (D53_) 545
MERIVA B 474 308 CC 515 19 | CHAMADE (L53_) 545
MOKKA 474 308 SW 515 19 11 (B/C53_) 545
MOVANO (F9) 474 309 11 (3C, 3A) 516 19 11 (D53_, 853_) 546
MOVANO (H9) 475 4007 (GP_) 517 1911 (L53.) 546
MOVANO (J9) 476 4008 517 1911 (S53_) 547
MOVANO (U9, E9) 476 405 | (15B) 517 19 Il CABRIOLET (D53_, 853_) 547
MOVANO B 477 405 | BREAK (15E) 517 19 Il CHAMADE (L53 ) 547
OMEGAA (16_, 17_, 19 ) 477 405 11 (4B) 517 21 (L48.) 547
OMEGA A (66_, 67_) 478 405 Il (4E) 518 21 SAVANNA (K48_) 548
OMEGAB (21_, 22_, 23) 478 405 || BREAK (4E) 518 AVANTIME (DEO_) 548
OMEGA B (21_,22_,23.) 479 406 (8B) 518 CAPTUR 548
OMEGAB (25_, 26_, 27_) 479 406 (8C) 520 CLIO (B/C57_, 5/357_) 548
SENATOR B (29) 480 406 (8E/F) 520 CLIO GRANDTOUR (KRO/1_) 549
SIGNUM 480 406 BREAK (8E/F) 521 CLIO GRANDTOUR IV 550
SINTRA 481 407 (6C_) 521 CLIO | (B/C57_, 5/357_) 551
TIGRA (95_) 481 407 (6D_) 522 CLIO I (S57) 551
TIGRA TWINTOP 481 407 (6E_) 522 CLIO Il (BBO/1/2_, CBO/1/2_) 551
VECTRAA (86_, 87_) 482 408 523 CLIO Il (SB0/1/2_) 553
VECTRAA (88_, 89_) 482 5008 523 CLIO Il (BRO/1, CRO/1) 554
VECTRA B (31.) 483 508 523 CLIO IV 555
VECTRA B (36_) 484 508 SW 524 CLIO MK Il (BBO/1/2_, CBO/1/2_) 556
VECTRA B (38_) 485 605 (6B) 524 DUSTER 556
VECTRA C 487 607 (9D, 9U) 525 ESPACE Il (J/S63_) 556
VECTRA C GTS 488 806 (221) 525 ESPACE Ill (JEO) 556
VIVARO (E7) 489 807 (E) 526 ESPACE IV (JKO/1) 556
VIVARO (F7) 490 BIPPER (AA) 526 EXPRESS 557
VIVARO (J7) 490 BIPPER TEPEE 526 EXTRA (F40_, G40_) 557
ZAFIRA A (F75_) 491 BOXER 526 EXTRA VAN (F40_, G40 ) 557
ZAFIRA B (A05) 491 BOXER (ZCT.) 528 FLUENCE (L30_) 558
ZAFIRA B VAN 492 BOXER (230L) 528 GRAND SCENIC Il (JM0/1_) 558
ZAFIRA TOURER C (P12) 492 BOXER (230P) 531 GRAND SCENIC Il (JZ0/1_) 558

PEUGEOT BOXER (244) 533 KANGOO (KCO/1_) 558
1007 (KM.) 493 BOXER (244, Z) 534 KANGOO / GRAND KANGOO (KW0/1_) 560
106 (1A, 1C) 493 BOXER (ZCT_) 535 KANGOO BE BOP (KW0/1_) 560
106 11 (1) 493 EXPERT 537 KANGOO EXPRESS (FC0/1_) 561
106 VAN (1_) 494 EXPERT (223) 537 KANGOO EXPRESS (FW0/1_) 562
107 494 EXPERT (224) 537 KOLEOS (HY.) 563
108 494 EXPERT (VF3A_, VF3U_, VF3X_) 537 LAGUNA | (B56_, 556_) 563
2008 495 EXPERT TEPEE (VF3V.) 538 LAGUNA | (K56_) 565
205 (741B, 20D) 495 EXPERT VAN (222) 538 LAGUNA Il (BGO/1_) 566
205 11 (20A/C) 495 J5 (290L) 538 LAGUNA Il GRANDTOUR (KGO/1_) 566
205 VAN 496 J5 (290P) 539 LAGUNA Il SPORT TOURER (KG0/1_) 566
206 496 PARTNER 539 LAGUNA Ill (BTO/1) 567
206 (2A/C) 496 PARTNER (5) 539 LAGUNA Il GRANDTOUR (KTO/1) 567
206 (2E/K) 497 PARTNER (5F) 540 LAGUNA Iil SPORT TOURER (KT0/1) 568
206 2A/C) 497 PARTNER BOX (5) 540 LATITUDE (L70_) 568
206 CC (2D) 497 PARTNER COMBISPACE (5F) 540 LOGAN (KS_) 568
206 SW (2E/K) 498 PARTNER TEPEE 541 LOGAN (LS_) 568
206 VAN 498 PARTNER VAN (5) 542 LOGAN EXPRESS 568
206+ (T3E) 498 RCZ 543 LOGAN I (KS_) 569
207 498 PLYMOUTH LOGAN I (LS ) 569
207 (WA_, WC_) 498 BREEZE 544 LOGAN Il 569
207 (WK_) 499 NEON 544 MASTER Il (ED/HD/UD) 569
207 CC (WD) 500 NEON II 544 MASTER Il (JD) 570
207 SW (WK_) 500 VOYAGER / GRAN VOYAGER 544 MASTER Il VAN (FD) 570
207 VAN 500 PONTIAC MASTER Il (EV, HV, UV) 571
208 501 BONNEVILLE 544 MASTER Il (FV) 571
3008 502 GRAND AM 544 MASTER Il (JV) 572
301 502 TRANS SPORT 544 MEGANE CC (EZ0/1_) 572
306 (7A, 7C, N3, N5) 503 VIBE 544 MEGANE | (BAO/1_) 572
306 (7B, N3, N5) 505 PORSCHE MEGANE | CABRIOLET (EA0/1_) 574
306 (7D, N3, N5) 507 CAYENNE (955) 544 MEGANE | CLASSIC (LAO/1_) 574
306 BREAK (7E, N3, N5) 508 PROTON MEGANE | COACH (DA0/1_) 575
306 VAN (N_, 7.) 509 IMPIAN 544 MEGANE | GRANDTOUR (KA0/1_) 576
307 (3A/C) 509 MEGANE Il SPORT TOURER (KMO/1_) 576




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
RENAULT SEAT SMART
MEGANE I (BMO/1_, CM0/1_) 576 AROSA (6H) 605 FORTWO CABRIO (451) 643
MEGANE Il (EMO/1_) 577 CORDOBA (6K1, 6K2) 606 ROADSTER (452) 643
MEGANE Il (KM0/1_) 577 CORDOBA (6K2) 608 SSANGYONG
MEGANE Il (LMO/1_) 577 CORDOBA (6L.2) 608 ACTYON | 644
MEGANE Il COUPE-CABRIOLET Il (EM0/1_) 578 CORDOBA VARIO (6K5) 609 ACTYON SPORTS | (QJ) 644
MEGANE Il SPORT TOURER (KM0/1_) 579 EXEO (3R2) 611 KYRON 644
MEGANE IIl (BZ0_) 579 EXEO ST (3R5) 611 REXTON (GAB_) 644
MEGANE |1l (DZ0/1_) 580 IBIZA (021A) 611 SUBARU
MEGANE Iil GRANDTOUR (KZ0/1) 580 IBIZA Il (6K1) 611 BAJA 644
MEGANE SCENIC (JAO/1) 580 IBIZA Il (6K1) 613 FORESTER (SF) 644
MODUS / GRAND MODUS (F/JP0_) 581 IBIZA IV (6L1) 614 FORESTER (SG) 644
RAPID (F40_, G40_) 583 IBIZA V (6J5) 615 FORESTER (SH) 645
SAFRANE (B54_) 583 IBIZA V (6J5, 6P1) 616 FORESTER (SJ) 645
SAFRANE Il (B54_) 583 IBIZA V SPORTCOUPE (6J1) 616 IMPREZA 645
SANDERO / STEPWAY 583 IBIZA V SPORTCOUPE (6J1, 6P5) 617 IMPREZA (GC) 645
SANDERO / STEPWAY | 584 IBIZA V ST (6J8) 617 IMPREZA (GD) 645
SANDERO/STEPWAY | 584 IBIZA V ST (638, 6P8) 618 IMPREZA (GD, GG) 645
SANDERO/STEPWAY II 584 INCA (6K9) 618 IMPREZA (GF) 646
SCENIC | (JAO/1) 584 LEON (1M1) 619 IMPREZA (GFC) 646
SCENIC Il (JMO/1_) 558 LEON (1P1) 620 IMPREZA (GR) 647
SCENIC Il (JZ0/1_) 558 LEON (5F1) 621 IMPREZA (GR, GH, G3) 647
THALIA | (LBO/1/2_) 586 LEON SC (5F5) 622 JUSTY 1l (G3X) 647
THALIA Il (LU1/2_) 586 LEON ST (5F8) 622 LEGACY (BC) 647
TRAFIC (TXW) 586 MALAGA (023A) 623 LEGACY (BC, BJF) 647
TRAFIC (TXX) 587 MARBELLA (28) 623 LEGACY Il (BD, BG) 647
TRAFIC Il (EL) 587 MII (KF1) 623 LEGACY IIl (BE, BH) 647
TRAFIC Il (FL) 587 TOLEDO (1L) 623 LEGACY IV 648
TRAFIC Il (JL) 587 TOLEDO | (1L) 625 LEGACY IV (B13.) 648
TRAFIC Il VAN (FL) 588 TOLEDO Il (1M2) 625 LEGACY OUTBACK (BG) 648
TWINGO | (C06_) 589 TOLEDO Il (5P2) 625 LEGACY V 648
TWINGO I (S06_) 589 TOLEDO IV (KG3) 626 LEGACY V (BM, BR) 649
TWINGO I (CNO_) 589 SKODA OUTBACK (BE, BH) 649
TWIZY (MAM_) 589 CITIGO 626 OUTBACK (BL, BP) 649
VEL SATIS (BJO_) 589 FABIA 626 OUTBACK (BM, BR) 649
WIND (E4M_) 590 FABIA (6Y2) 627 TREZIA 649
ZOE 590 FABIA (6Y3) 628 TRIBECA (B9) 649
ROVER FABIA (6Y5) 630 SUZUKI
200 (RF) 590 FABIA (NJ3) 631 ALTO (HA25, HA35) 649
200 (XW) 590 FABIA (NJ5) 631 ALTO Ill (EF) 649
25 (RF) 591 FABIA COMBI 631 ALTO IV (FF) 649
400 (RT) 591 FABIA PRAKTIK 632 BALENO (EG) 649
400 (XW) 592 FAVORIT (781) 633 CAPPUCINO (EA) 650
400 TOURER (XW) 592 FAVORIT (787) 633 CARRY (FD) 650
45 (RT) 592 FAVORIT FORMAN (785) 633 GRAND VITARA | (FT, GT) 650
600 (RH) 593 FELICIA (6U1) 633 GRAND VITARA I (JT) 650
75 (RJ) 593 FELICIA (6U5) 634 IGNIS (FH) 651
75 TOURER (RJ) 593 FELICIA | FUN (797) 634 IGNIS Il 651
CABRIOLET (XW) 593 FELICIA Il (6U1) 634 JIMNY (FJ) 651
CITYROVER 594 FELICIA Il (6U5) 634 LIANA (ER) 651
COUPE 594 OCTAVIA (1U2) 634 SAMURAI (SJ) 652
MINI OCTAVIA (1U5) 635 SPLASH 652
MINI (XN) 594 OCTAVIA (1Z3) 636 SWIFT (SF413) 652
STREETWISE 594 OCTAVIA (1Z5) 636 SWIFT Il (AH, AJ) 652
SAAB OCTAVIA (5E3) 638 SWIFT Il (EA, MA) 652
900 594 OCTAVIA COMBI (5E5) 638 SWIFT Il (MZ, EZ) 652
900 (AC4, AM4) 594 RAPID (NH1) 639 SWIFT IV (FZ, N2) 652
900 Ii 595 RAPID SPACEBACK (NH1) 639 SX4 (EY, GY) 653
9000 595 ROOMSTER (5J) 639 SX4 (GY) 653
42616 596 ROOMSTER PRAKTIK (5J) 640 VITARA (ET, TA) 653
9-3 (YS3D) 597 SUPERB (3T4) 640 VITARA CABRIO (ET, TA) 653
9-3 (YS3F) 598 SUPERB (3T5) 641 WAGON R 654
9-3 CABRIOLET (YS3D) 599 SUPERB (3U4) 641 WAGON R+ (EM) 654
9-3X 600 YETI (5L) 641 WAGON R+ (MM) 654
9-5 (YS3E) 600 SMART X-90 (EL) 654
9-5 (YS3G) 602 CABRIO (450) 642 TOYOTA
9-7X 602 CITY-COUPE (450) 642 4 RUNNER (KZN18_, VZN18_, RZN18_) 654
SEAT CROSSBLADE (450) 642 4 RUNNER (RN10_, VZN13_, VZN10_, RN13 ) 654
ALHAMBRA (710) 602 FORFOUR (454) 642 4 RUNNER (UZN21_, KZN21_, GRN21 ) 654
ALHAMBRA (7V8, 7V9) 603 FORTWO (450) 643 ALLION | (ZZT24_, NZT24_, AZT24.) 654
ALTEA (5P1) 603 FORTWO (451) 643 ALLION Il (NZT26_, ZRT26_) 654
ALTEA XL (5P5, 5P8) 604 FORTWO CABRIO (450) 643 ALPHARD (ATH1_, MNH1_, ANH1_) 654




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
TOYOTA TOYOTA TOYOTA

ALPHARD / VELLFIRE (GGH2_, ANH2_, ATH2_) 654 HIACE IV (LXH1_, RZH1_, LH1 ) 672 WISH MPV (ZNE1_, ANE1 ) 680
ALTEZZA (SXE1_, JCE1_, GXE1)) 655 HIACE IV (TRH2_, KDH2_) 672 YARIS (NHP13_, NSP13_, NCP13_, KSP13_, NLP13_) 680
ALTEZZA GITA (SXE1_, GXE1_) 655 HIACE V (TRH2_, KDH2_) 673 YARIS (SCP9_, NSP9_, KSP9_, NCP9_, ZSP9_) 680
ALTIS 655 HIGHLANDER 673 YARIS / VITZ (NLP13_, NSP13_, NCP13_, KSP13 ) 680
AURION (GSV4_, ACV4_) 655 HILUX Il (RN6_, RN5_, LN6_, YN6_, YN5_, LN5_) 673 YARIS / VITZ (SCP1_, NLP1_, NCP1)) 680
AURIS (NRE15_, ZZE15_, ADE15_, ZRE15_, NDE15) 655 HILUX [ (KUN_, TGN_, LAN_, GGN_) 673 YARIS / VITZ (SCP9_, NSP9_, KSP9_, NCP9_, ZSP9 ) 681
AURIS (NZE18_, ZRE18_) 655 HILUX 1l (KUN1_, TGN3_, TGN2_, TGN1_, KUN2) 673 YARIS VERSO (_NLP2_, _NCP2_) 681
AURIS TOURING SPORTS (ADE18_, ZWE18_, ZRE18_) 655 HILUX Il (TGN1_, GGN2_, GGN1_, KUN2_, KUN1 ) 673 ZELAS (AGT20) 681
AVALON (GSX3)) 656 HILUX 11l PICKUP (TGN1_, GGN2_, GGN1_, KUN2_, KUN1_) 673 VAUXHALL

AVALON (MCX1.) 656 1Q (KPJ1_, KGJ1_, NGJ1_, NUJ1) 673 ADAM 681
AVALON (MCX2_) 656 1Q (KPJ1_, NGJ1_, KGJ1_, NUJ1) 673 AGILA T (A) 681
AVENSIS (_T22_) 656 ISIS (ZNM1_, ANM1_, ZGM1_) 673 AGILA 1l (B) 682
AVENSIS (T25) 656 KIJANG INNOVA (_TGN4_, _KUN4_) 674 ANTARA (J26, H26) 682
AVENSIS (T25_) 657 KLUGER (_MCU2_, _ACU2 ) 674 ASTRA GTC MK VI (J) 682
AVENSIS (ZRT27, ADT27) 657 KLUGER (_MHU4_, _GSU4_, ASU4 ) 674 ASTRA GTC Vi (J) 682
AVENSIS LIFTBACK (_T22_) 658 LAND CRUISER (KDJ12_, GRJ12_) 674 ASTRA I 683
AVENSIS STATION WAGON (_T22_) 658 LAND CRUISER (KDJ15_, GRJ15_) 674 ASTRA Il BELMONT 683
AVENSIS VERSO (_CLM2_, _ACM2) 658 LAND CRUISER (PZJ7_, K2J7_, HZJ7_, BJ7_, LJ7_,RJ7_) 675 ASTRA Il (F) 683
AYGO (PAB4_, KGB4_) 658 LAND CRUISER 200 (VDJ2_, UZJ2 ) 675 ASTRA IV (G) 689
AYGO (WNBL1_, KGB1 ) 658 LAND CRUISER 80 (_J8_) 675 ASTRA IV (G) (F67) 693
BREVIS (JCG1_) 658 LAND CRUISER 90 (_J9_) 675 ASTRA MK VI (J) 694
CALDINA (ZZT24_, ST24_, AZT24 ) 658 LAND CRUISER HARDTOP (_J7_) 675 ASTRA TWINTOP V (H) 694
CAMRY (_CV1_, XV1_,_V1) 658 LAND CRUISER PRADO (KDJ15_, GRJ15_) 676 ASTRA YV (H) 694
CAMRY (_CV2_, _XV2) 659 LAND CRUISER PRADO (LJ12_, KZJ12_, TRJ12_, KDJ12_, GRJ12) 676 ASTRA V (H) SPORT HATCH 697
CAMRY (_XV4.)) 659 MATRIX 676 ASTRA VI (J) 698
CAMRY (AVV5_, XV5_) 659 MATRIX (ZRE14_, AZE14 ) 676 ASTRA VI (J) SPORTS TOURER 698
CAMRY (MCV3_, ACV3_, XV3)) 659 MATRIX (ZZE13_) 676 ASTRAMAX 699
CAMRY SOLARA (MCV3_, ACV3_) 660 MR 2 1ll (ZZW3_) 676 ASTRAVAN I (F) 699
CAMRY STATION WAGON (_V2)) 660 NOAH/VOXY (_AZR6_) 676 ASTRAVAN IV (G) 699
CAMRY STATION WAGON (_XV1_, _CV1_, 660 OPA (ZCT1_, ACT1) 676 ASTRAVAN V (H) 700
CARINAE (_T19.) 660 PASEO (EL54) 676 CALIBRA 700
CELICA (AT20_, ST20_) 662 PICNIC (_XM10) 676 CARLTON Il 701
CELICA (ST20_, AT20_) 662 PREMIO (NZT26_, ZRT26_) 676 CASCADA 701
CELICA (2ZT23_) 662 PREVIA (MCR3_, ACR3_, CLR3_) 676 CAVALIER I 701
CELSIOR (UCF3)) 663 PREVIA Ill (AHR5_, GSR5_, ACR5_) 676 CAVALIER Ill (87) 702
CHASER (_X9_) 663 PRIUS (NHW11_) 676 COMBO | (B) 703
COROLLA 663 PRIUS (NHW20_) 676 COMBO Il (C) (F25) 703
COROLLA (_E10) 663 PRIUS (ZVW3_) 677 COMBO Il (D) 703
COROLLA (_E11) 663 PRIUS C (NHP10_) 677 COMBO TOUR II (C) (F25) 704
COROLLA (_E12J_, _E12T)) 664 PRIUS PLUS (ZVW4_) 677 CORSA | (B) 704
COROLLA (E15)) 664 PROGRES (JCG1_) 677 CORSA I (C) (W5L, F08) 705
COROLLA (NRE18_, ZRE17_, ZRE18_, NDE18_) 665 RACTIS (SCP10_, NCP10_) 677 CORSA Il (D) (L_8) 705
COROLLA (ZZE12_, NDE12_, ZDE12_) 665 RAV 4 (SXA1)) 677 CORSA MK IV (E) 706
COROLLA COMPACT (_E10.) 666 RAV 41 (SXA1)) 677 CORSAVAN I (B) 707
COROLLA COMPACT (_E11)) 666 RAV 4 11 (CLA2_, XA2_, ZCA2_, ACA2)) 677 CORSAVAN Il (C) 707
COROLLA LEVIN (AE10_) 667 RAV 4 Il (ACA3_, ACE_, ALA3_, GSA3_, ZSA3_) 677 CORSAVAN llI (D) 707
COROLLA LIFTBACK (_E10_) 667 RAV 4 IV (WWA4_, AVA4_, ZSA4_, ALA4_) 678 CORSAVAN MK IV (E) 707
COROLLA LIFTBACK (_E11_) 667 RAV 4 IV (ZSA4_, ALA4 ) 678 INSIGNIA 708
COROLLA VERSO (ZDE12_, CDE12) 668 ROYAL (3ZS17.) 678 INSIGNIA SPORTS TOURER 709
COROLLA VERSO (ZER_, ZZE_, R1_) 668 RUSH (F700_) 678 MERIVA 1 (A) 710
COROLLA WAGON (__E11)) 669 SEQUOIA 678 MERIVA i (B) 710
COROLLA WAGON (_E10_) 670 SEQUOIA (UCK6_, UPK6_, USK6_) 678 MERIVA MK Il (B) 710
CROWN (CRS_, JZS_, GRS18_, UZS) 670 SIENNA 678 MOKKA 710
CROWN Saloon (CRS_, JZS_, GRS18_, UZS_) 670 SIENNA (MCL2_, GSL2_) 678 MOVANO | (A) (JD) 711
CYNOS (EL44_) 670 SIERRA 678 MOVANO I (A) CHASSIS/CAB (ED, UD, HD) 711
CYNOS (EL54) 670 STARLET (EP91) 678 MOVANO | (A) VAN (FD) 712
ECHO 670 TACOMA 678 MOVANO lI (B) CHASSIS/CAB 712
ECHO (NCP13_, NCP12) 670 URBAN CRUISER (NSP1_, NLP1_, ZSP1_, NCP11_) 679 MOVANO I (B) COMBI 713
ECHO (NCP13_, NCP12_) 670 VENZA (GGV1_, AGV1.) 679 MOVANO I (B) VAN 713
FJ CRUISER (GSJ1_) 671 VEROSSA (JZX11_, GX11_) 679 MOVANO MK 11 (B) VAN 713
FORTUNER (TGN6_, KUN6_, GGN6_, TGN5_) 671 VERSO (_AUR2_, _ZGR2)) 679 NOVA 713
FORTUNER (TGN6_, KUNG_, GGN6_, TGN5_, LAN5_, KUN5_, GGN5 ) 671 VERSO S (NLP12_, NCP12_, NSP12_) 679 NOVAVAN 714
GAIA (CXM1_, SXM1_, ACM1_) 671 VIOS (SCP4_, NCP4_, AXP4_) 679 OMEGA (B) 714
HARRIER (MCU3_, MHU3_, ACU3_, GSU3) 671 VIOS/YARIS (ZSP9_, NCP9_) 679 SENATOR Il (B) 716
HARRIER (SXU1_, MCU1_, ACU1)) 671 VISTA (SV5_, ZV5_) 679 SIGNUM 716
HIACE / COMMUTER IV (TRH2_, KDH2_) 671 WILL VS (ZZE12_, NZE12_) 679 SINTRA 717
HIACE / COMMUTER V (TRH2_, KDH2_) 671 WINDOM (MCV3_) 679 TIGRA | (FO7) 717
HIACE Hll (YH7_, LH6_, LH7_, LH5_, YH5_, YH6_) 671 WINDOM (VCV1_) 679 TIGRA TWINTOP 717
HIACE Il WAGON (LH1_, RZH1 ) 671 WISH (ZGE2_) 679 VECTRA (B) 717
HIACE IV (LH1.) 671 WISH (ZNE1_, ANE1 ) 680 VECTRAII (C) 720
HIACE IV (LXH1_, RCH1_, KLH1_) 672 WISH MPV (ZGE2_) 680 VECTRA Il (C) GTS 721




MAKE-MODEL PAGE MAKE-MODEL PAGE MAKE-MODEL PAGE
VAUXHALL VOLKSWAGEN VOLVO

VIVARO (E7) 721 PASSAT VARIANT (3C5) 761 V90 795
VIVARO (F7) 722 PASSAT VARIANT (3G5) 762 XC60 795
VIVARO (J7) 722 PHAETON (3D_) 762 XC70 CROSS COUNTRY 795
ZAFIRA | (A) (F75) 723 POLO 762 XC70 11 795
ZAFIRA Il (B) (M75) 724 POLO (6KV2) 763 XC90 796
ZAFIRA Il (P12) 724 POLO (6N1) 763
ZAFIRA MK 11l (P12) 724 POLO (6N2) 765

VOLKSWAGEN POLO (6NF) 766
BEETLE 724 POLO (6R, 6C) 766
BEETLE (5C1) 725 POLO (86C, 80) 767
BEETLE (5C7) 725 POLO (86CF) 767
BORA (1J2) 726 POLO (9A4) 767
BORA (1J6) 727 POLO (9N_) 767
CADDY Il (9K9A) 728 POLO CLASSIC (6KV2) 769
CADDY Il (9K9B) 729 POLO VARIANT (6KV5) 769
CADDY Ii (9U7) 729 ROUTAN 770
CADDY Il (2KA, 2KH, 2CA, 2CH) 729 SANTANA 770
CADDY Il (2KB, 2KJ, 2CB, 2CJ) 730 SCIROCCO (137) 770
CC (358) 730 SCIROCCO (137, 138) 770
CORRADO (53l) 731 SHARAN (7M8, 7M9, 7M6) 770
CRAFTER 30-35 (2E_) 731 SHARAN (7N) 771
CRAFTER 30-50 (2E_) 732 TARO 771
CRAFTER 30-50 (2F_) 732 TIGUAN (5N_) 771
EOS (1F7, 1F8) 732 TOUAREG (7LA, 7L6, 7L7) 772
FOX (521, 5Z3) 733 TOUAREG (7P5) 772
GOLF ALLTRACK (BA5) 733 TOURAN (1T1, 1T2) 772
GOLF Il (19E, 1G1) 733 TOURAN (1T3) 773
GOLF Il (1E7) 733 TOURAN (5T1) 773
GOLF Il (1H1) 734 TRANSPORTER / CARAVELLE V (7HB, 7HJ, 7EB, 7EJ, 7EF) 773
GOLF IIl CABRIOLET (1E7) 736 TRANSPORTER V (7HA, 7HH, 7EA, 7TEH) 774
GOLF IIl VARIANT (1H5) 737 TRANSPORTER V (7D, 7JE, 7JL, 73Y, 7J2) 774
GOLF IV (1J1) 739 TRANSPORTER VI (SFD, SFE, SFL, SFZ) 774
GOLF IV (1J5) 740 TRANSPORTER VI (SGA, SGH) 774
GOLF IV VARIANT (1J5) 741 TRANSPORTER VI (SGB, SGG, SGJ) 775
GOLF PLUS (5M1, 521) 741 uP 775
GOLF V (1K1) 743 VENTO (1H2) 775
GOLF V VARIANT (1K5) 744 VOLVO
GOLF VI (517) 744 440 K (445) 777
GOLF VI (5K1) 745 460 L (464) 777
GOLF VI CONVERTIBLE (517) 746 480 E 778
GOLF VI VARIANT (AJ5) 746 740 (744) 778
GOLF VII (5G1) 746 740 KOMBI (745) 778
GOLF VII (5G1, BE1) 747 850 (LS) 778
GOLF VIl (BA5) 747 850 (LW) 778
GOLF VIl KOMBI (BA5) 747 940 (944) 779
JETTA Il (19E, 1G2, 165) 748 940 11 (944) 780
JETTA 11l (1K2) 748 940 11 (945) 781
JETTA IV (162) 748 940 KOMBI (945) 781
JETTA IV (162, 163) 749 960 (964) 781
LT 28-50 (281-363) 749 960 11 (964) 782
LT Il (2DA, 2DD, 2DH) 749 960 I1 (965) 782
LT Il (2DB, 2DE, 2DK) 750 960 KOMBI (965) 782
LT Il (2DC, 2DF, 2DG, 2DL, 2DM) 750 c30 782
LUPO (6X1, 6E1) 751 c701 783
MULTIVAN V (7HM, 7HN, 7HF, 7EF, 7EM, 7EN) 751 croll 783
MULTIVAN VI (SGF, SGM, SGN) 752 S401 (VS) 783
NEW BEETLE (1Y7) 752 S40 11 (MS) 784
NEW BEETLE (9C1, 1C1) 752 S60 785
PASSAT (362) 753 S60 | 785
PASSAT (3A2, 35I) 753 S60 II 785
PASSAT (3B2) 755 S70(LS) 786
PASSAT (3B3) 756 S80I (TS, XY) 788
PASSAT (3B5) 756 S80 11 (AS) 789
PASSAT (3C2) 756 S90 790
PASSAT ALLTRACK (365) 757 V40 (VW) 790
PASSAT ALLTRACK (3G5) 757 V50 (MW) 790
PASSAT CC (357) 757 V60 791
PASSAT VARIANT (365) 758 V70 (LV) 792
PASSAT VARIANT (3A5, 351) 758 V701 (LV) 793
PASSAT VARIANT (3B5) 760 V70 Il (SW) 793
PASSAT VARIANT (3B6) 761 V70 1l (BW) 794




Explanation of G-AP Hub assembly number code

Example: GHA228028K

GHA
1 |—) Kit
Serial number
Inner diameter in mm

Generation 2

L——> Code for hub assembly

Explanation of G-AP Hub assembly number code

Example: GHA400053K

Kit
Serial number
Generation 3 with solid core

—> Code for hub assembly

Explanation of G-AP Hub assembly number code

Example: GHA499032K

Kit
Serial number
Axle joint only

'—> Code for hub assembly

Explanation of G-AP_Hub assembly number code

Example: GHA327039K

T 11
Serial number

Number of inner spline teeth

Generation 3 with inner spline

——> Code for hub assembly

Explanation of G-AP Hub assembly number code

Example: GHA425017K

T 11
Serial number

Number of inner spline teeth

4XX stands for hub

'—> Code for hub assembly




Hub Assemblies

Basic Dimension Table-G-AP to Dimension

|
- 2
¥
B T
A
BASIC DIMENSIONS(mm)
ID G-AP Ref. TEETH /d ABS
A B @ D F

1 GHA223001 134 100 M12x1.5(4S) 56.1 49.4 23 V
2 GHA225003K 133 108 M14X1.5(5) 60 54 25 \
3 GHA225006K 133 100 M12X1.5(4) 60 54 25 V
4 GHA225006F 133 100 M12X1.5(4) 60 54 25 \
5 GHA225008 133.8 100 M12X1.5(4S) 56 49,5 25
6 GHA225009A 128 108 M12X1.25(4) 65 42 25 y
7 GHA225010K 129 108 M12X1.25(4) 65 42 25 V
8 GHA225011K 129 108 M12X1.25(4) 65 42 25 \
9 GHA225012K 129 108 M12X1.25(4) 65 42 25 V
10 GHA225013K 129 108 M12X1.25(4) 65 42 25 y
11 GHA225014K 129 108 M12X1.25(4) 65 42 25
12 GHA225015K 133 100 M12X1.5(4) 60 54 25 \
13 GHA225016 129 108 M12X1.25(4) 65 42 25
14 GHA225018K 274 100 M12X1.5(2) 60 68.3 25 V
15 GHA225019K 240 100 M12X1.5(4) 60 67.5 25 J
16 GHA225020K 133 100 M12X1.5(4) 60 54 25
17 GHA225021K 125.6 100 M12X1.5(4S) 56.5 56 25 J
18 GHA225022K 133 100 M12X1.5(4) 60 54.2 25 y
19 GHA225025K 125.6 100 M12X1.5(4S) 56.5 56 25
20 GHA225026K 133 100 M12x1.5(4) 60 54 25 y
21 GHA225027K 133 100 M12x1.5(4) 60 54 25 V
22 GHA225028K 133 100 M12x1.5(4) 60 54.2 25 y
23 GHA225029K 120 100 M12x1.5(4) 57 41 25 V
24 GHA225030K 133 100 M12x1.5(4) 60 54 25 y
25 GHA225031K 128 108 M12x1.25(4) 65 42 25
26 GHA225032K 128 108 M12x1.25(4) 65 42 25
27 GHA225034K 133 108 M14x1.5(5) 60 54 25 J
28 GHA225035K 133 108 M14x1.5(5) 60 54 25 y
29 GHA225036K 133 108 M14x1.5(5) 60 54.2 25 J
30 GHA225037K 128 108 M12x1.25(4) 65 422 25 y
31 GHA225038K 260 114.3 M12x1.5(5) 61 25 J
32 GHA225039K 237.8 100 M12x1.5(4) 55 25 y
33 GHA225040K 237.8 100 M12x1.5(4) 55 25 J
34 GHA225041K 270 100 M12x1.5(4) 60 25 y
35 GHA225042K 248.6 108 M12x1.25(4) 51 25 V
36 GHA227001K 134 100 M12X1.25(4S) 59 52.5 27
37 GHA227002 148 114.3 M12X1.25(4S) 66 52.5 27 J
38 GHA227003K 148 114.3 M12X1.25(4S) 66 57.5 27
39 GHA227004K 148 114.3 M12X1.25(4S) 66 52.5 27 J
40 GHA227006 134 100 M12X1.25(4S) 59 52.5 27 \/
41 GHA227007 134 100 D14(4) 59 52.5 27
42 GHA227010 134 100 M12X1.25(4S) 59 52.5 27 \/
43 GHA227011 148 114.3 M12x1.25(4S) 66 52.5 27 J
44 GHA227014 148 114.3 M12X1.25(4S) 66 52.5 27
45 GHA227015 148 114.3 D14(4) 66 52.5 27 J




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

o owaork e  wo  wwamey  w» s w1 |
o cmezs w0 mas  oww o sms @ |
o cmzozk w0 wmase  sws sme @ |
e oo @ eow om @
s omzon  mz w0 wpassy v w m |
o omzes w9 mas  wasey o ms @ |
o omzene s w0 wassy  swe e m |
o ok w9 mas  wasey o sms m |
ok ms w0 wpasuy  » sms m |
oo Grazeok w9 mas  wasey o sms m |
o orazeak e w0 wmasey » es  m |
o oz e w0 wasuy  » @s m |
% craak w0 w0 wpasuy s sms m |
v omask s w0 wpasuy w1 ss @ |
o crazeoax 2 w0 wpasey s s m |
o oAbk w0 w0 wpasuy s ms m |
% omsi w0 w0 woamey  es  m |
o omomoss ms w0 wasey » sms m |
o crazsk w0 w0 woamey  ® @s @ |

90 GHA228067K 140 100 M12x1.5(4S) 54 50.5 28 \/




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

o oAz s mas  wpamey @ sme m |
o Gmeworr  w e woame »  ws  w
o ook e mas  wasey e w  w
i oeazaos  mms  we  wwasw e sms  w |
o omzaoosk o woume o w  w
m ook e eow  om w
a5 omzaomk w0 wpasey s w  w
o omzaosk 2 w0 wpasey  » w  w |
uo omzaosk @ w0 wpasey s w  w |
i oraaosk  we  nas  wamey o s  w |
o ook mes e woame » o w |
s owamoek s s woame » w  w |
i cwzaosk w0 wpasey s w  w |
o ooz e uas  wamey o e m |
o ook w0 w0 woame s  ss  w

135 GHA230065K 139 100 M12X1.5(4S) 56 56 30 \/




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

oo Gwzmeex @ w0 wmases  » % w1
oo craziostk 9 w0 wpasey » w  w |
w0 cmoo  we  mas  wamey o sms  w |
ue ooz i  mas  woasey e w  w |
i ook e w0 wpasey  » w  w |
i cmzioszs w0 wmase sws @ w |
o crazoosk o mas owe o ss  w
o Gk mms s woame » o w |
e omsr e woame » s w |
o Grazilosk e we  wmame s m  w |
oo Gmzaak w0 e weass »  sme  w |
oo Gmazmonk s we  weasy @ sz w |
o cmzansc w0 mo  wmame e o w |
2 ok e w0 wpasey w1 s w |
i omzausk w9 mas  wpasey sws @ w |
v omzazk w0 e weasy »  sme  w |
o omazmizk o w0 wzasey sws @ w |

180 GHA230125K 140 114.3 M12x1.5(5S) 67 56 30 \/

4



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

T oo  w  w  wmame » s w
o w9 mas  wpasey sws @ w |
s oo e mas  wwasey  me  m  |
ok ws  mas  wmasy e w |
o omazmlek  ws  we  wmasy o w |
o ok w0 mas  weasy w w |
o ol mer  we  wmame »  w |
s ool awr  we wmamw w  w |
i w2 w0 mas  wpamey o e w |
o ook me  we  wmame s @ om |
o ook me  we  woame o e m |
w0 Gmewoor e we wmame s @ m |
s ook o we wmame s @ om
ook e oo woame s @ om |
w0 crzmmsc w9 uas  woasuy o ms m |
i owemzk oo woame s @ om |
o cmemis e w0 wwasy  »  sme  m |
ms  cmowes w9 mas  wpasey o ms  om |
ok e oo woame s @ om |
mo owmak  ms  we  woame s @ m |
ok e w0 weamw s @ om
o owemsk e wo  wmams s @ om |

225 GHA232036K 142 112 M14x1.5(5) 66.5 48.5 32 \/




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

mo cwmsk  we we  wmams s @ m |
w0 cwemoe w9 mas  wwasey o ms  m |
me owomou w9 mas  wpasey o ms om |
mo oo w9 mas  wmassy o sms  m |
o ook w0 uas  wpasey o sz m |
e omomoa s mas  wpasey o sz om
e Gomom me  mas  wmasuy e w w |
me orazmosk w9 mas  wwasey o ss  w |
i Gmomon  we  mas  wpamey e sme w |
me Gk m  wmasy e e  m |
mo ootk | aw  wo  wassy e e m
w0 Gk o w0 wpassy e me  m |
e owemns w  mo  wmasy s e m |
o Grasmsc  we  mas  wpassy o w2 m |
o Grazsmk o w0 wmasey e w  m |
wo oz e w0 wmame »  m  m |

270 GHA235023K 148 114.3 M12x1.5(5S) 67 56.2 35 \/




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

o oo w0 mas  wpassy o w  w
o5 cwamos w0 mas  wmassy o a w |
ook we  owmw @ @ |
wo  omemon o woamw @e e w |
o Gz s mas  wpasey @ sz m |
o ooz w  woamm ws  es  m |
s omassos  mo  wmamm 5 ms  m
ook o woame e @ w
o oo s wer  wamey ws  w a |
w0 cmsmosk  we  eoww  ws @ m
s omeswek e woumw me  w  w
o cmaewos  wo  woamm  we s w
o cmswos o woame me w  w |
n omawas o woamm e w |
o omams  ms owe  oma W |

315 GHA244003K 140 D12(2)P13(2) 58.25 44 v




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
] A v
2 «]Tm N
. N\
L 1

o Gwemow  wo  emmewm  wms w1 |
o omams w0 wono  osma W
oo omaasos s woamw wme e s
o omesos o  wmase e w  sw |
R T N S T R R T B
o omasin s e wpasey mz o s |
o omasiis ms mer  wpasey w2 o s |
w0 craeox w9 w0 weasy w s |
% omaasie ms wer  wwasey w2 o s |
i ooz we  wmamw w1 s 4
W  Gmuen w0 momee s w |
wo oz mw  woase  w w  w
o omaasos w0 eww  oma  w |
e oo om0 wmase e mz  w |
o omason0 e wee  wmame @y w  sw |
e omsim  m  wmame ms  ms  om |
o Gmsios  mo  wmase e om |
w0 owswok  w  wsame w w s
w ook e emiw e e s |
i Gmsasr  wo  wmame ® s
we oz we  wmamw s s sw |
wo ook w e weame »  m  om

360 GHA320003K 117.8 100 M12x1.5(4) 57 53.2 20 \/




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

o G e w0 wmamey  we  me w1 |
o omazs w0 mas  wmasy @ o m |
s Gmags s mo  wwassy s m |
o oo s mo  wwassy a0 w |
o Gz s mo  wwassy s m |
on omawsos ms w0 wamey » e m |
oo ook e mas  woamey o a1 m |
s oAk  we  mas  wamey o e m |
o7 ooz mas  wassy 1w m |
o ook ms w0 wpamey » s m |
o Gawsies s mas  wwassy o me m |
w0 omaen mms we  wwase e w  m |
s omameos  mss  we  wmame o o m |
o oo o w0 wmpassy  » ws  m |
o ook mms we  wwasw e w m |
o cwaeos w9 mas  wassy me @ m |
o Gk o w0 wassy  swe ws m |
s ook s w0 woase » w  m |
s Gk ms w0 wpassy s @ m |
o oAk s w0 weamw » w m |
o oramesk w0 w0 wpasey @s w m |

405 GHA326043 135 100 M12x1.5(4S) 54 54.5 26




Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

T G e mas  wmasey @ e  m
0 orameosk s w0 wpasey s e m |
ook s was ey me sz @
oz s mas  wpwey  me  ms @
s oo ws  mas ey me e @ |
a0 omamer s v wpassy ma  aa @ |
oo omozk  w  ms  wpassy  ma @ @ |
oo oo we  mas  wamey o a1 @ |
oo omaesk s w0 woamey »  wms @ |
oo ouaoak 0  ms  wwassy  me  ws @ |
w0 crammos 0 mo  wwassy  me as m |
uc cramsork w0 mas  wpamey @ sms  m |
s ook 9 mas  wpasey o w om
wo  oawens  sme w0 wwassy o me  m |
uo oo w0 mas  wamey o a1 m |

450 GHA329003 139.8 114.3 M12X1.25(6S) 66 46.1 29 \/

10



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

o oramwos w0 mas  wamey o a1 m |
s ootk s mo  wwasy e w1 m
7 omawen0 o mas  wamey o w  m |
o Gmaweme 1o mas  wpamey o a1 m |
s cmawsies e mas  wpamey o e m |
i ook s w1 wmasey o ws  w |
o ook mo  wmasy s w  w |
o5 ook mz  oer  wases e as  w |
oo Gmmozk  w  mo  wmasy e w w |
i ook mo  wwassy e @ w |
o ommozs v mo  wwassy  we @ m |
s ook ws  w  wwame m o w |
i omaoms om0 wpasey e m  w |
o omawons w0 mas  wzassy @ sm1  w |

495 GHA330047 152 112 M14x1.5(5) 66.4 59 30 \/

11



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

o omamoos s mas  apaey  me  ms  om |
w0 oo s e wzasey smz e om |
s Gramos o mas  wamey o e m |
oo ook s w  apaey  me  ms  om |
o ook s mas  wmassy o ms om |
o omaomo wes  ms  wwassy me w1 om |
ot o  mz e ey me s m |
o o w0 wer  wwases me e m |
s omsmom  wss  mas  wpassy  me @ om |
s orawsk o w0 wmase ss w m |
s o me  ws s e om |
o cmamo  we  ws s e om
w0 o e apwey  me s m |
e oramosz 0  wws  wasey o e m |
s omagss w0 wpaney me ez m |
o omame ms ms  wweasy me w2 m |
5o omawmes  ms  wsi  wwasey  mes  se  m |

540 GHA333070K 137 110 M12X1.5(5) 65 38 33 \/

12



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

i Gmamrs e e wwases o  w  ow
s cmame ws s wesaimey  m ma  m |
o7 Gasmes  ws s wwsaimes s m |
o ook om0 wmasy s w  m |
s Gmasmos mes  wer  wzasey  we 1 m |
o Gk mr w0 wwasy s  sms  w |
1 Gk | ms  wo  wmassy @z e m |
o oo s we  woame e o w
s omamooes 1 we  wwasy e o m |
o GOk e we  wwasy o o w |
oo ook e we  weasy @z n  w |
s Gmamork e w0 wpasey @z m  w |
o7 ook e wo  wpassy @z ee  w |
o ook e we  wwasy o o w |
s G  wes  me  maey  ws  oma  m
o Gradok w9 w  wmasy om  owm

585 GHA400004 148 114.3 M12X1.5(4S) 67 59 \/

13



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

oo Gmaaoor s w0 wmasey s ms
o Graoos  wo  mas  wamey o e |
o Gmwoon e mas  wmamey o e |
s Gwoma w0 w0 wmassy s e |
s Gnaons 1 mas  wmassy o me |
s Gnaons  wms w0 wwpassy  se e |
o Gnaon  wes  mas  wassy me e |
w0 Gradosek w0 w0 wasuy s s |
o o w0 m  wassy s o |
oo Ghaono w0 mo  wassy s o |
o Ghaobz w0 mo  wpassy s o |
o Ghaoos w0 mo  wassy s e
o oo w0 mo  wpassy s e |
o cwone 0w  wassy s e |
ou Gk mo  wwasy e | we |
o Gradoosk w0 mo  wmasy e m |
o Gradoostk w0 e wmase ss m |
o0 oo e mas  wassy o ms |
o oo s w0 wasuy s ms |
o Gawoo  mms w0 wmassy s i |
oo omawoon  wes  mas  wassy me e |
oo oo o wo  wpassy s as |

630 GHA400079 152 114.3 M12X1.5(5S) 60 60 \/

14



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

o Gmaae e we  wmassy ws w1 |
oo Gradooek w0 w0 wpassy @z sz |
s Gradoek e mas  wassy @ me i |
o Gnawoses s mas  wmasuy s w |
o cwor0 e mas  wpassy @ o |
i G ms w0 wasey s |
o Gnaooss s w0 wmpassy s o |
s oo e mas  wamey o e |
o7 oo mms w0 wasey s s |
6o Gmaomor  mms  mas  wmassy e w |
1 Gmaows o w0 wpassy @z sz |
oo omor e mas  wmassy o e |
s Gradoosk w1 we  wwasy e sme |
o7 Gmawon2 w0 mas  wassy  me e |
o Gmous e w0 wasuy s s |
1 Gradousk w0 mo  wmasy s m |
o Gmawoizr w0 mas  wamey o w1 |
oo Gradok w0 w0 wpasey s w |
o Gramzk w0 mo  wmasy e m |
oo GmaaosuE s w0 wwame » sms |
on ook wo  wasuy @z ms |
oo oo w0 mas  wpassy o o |

675 GHA400144 1455 120.7 M12X1.5(5S) 70.1 42.1

15



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

oo Gmaaowe s w0 wmaswe s sms 1
o0 cmwms2  ws  w  wpassy o a1 |
o crasmsk s w0 wmase  » sms |
or oo w0 mas  wmassy o sms |
oo Gradostk w0 w0 wpasuy s w
oo Graaois0 mme  mas  wmamey e w1 |
oo Gradolssk w0 w5 wpassy  sws ee |
0 Gmaoss  wms w0 wmassy s o |
o Gnawoiss s mas  wasuy s m |
o Gk w0 w  wmasy ms w4
o Gumns  w  w  wmasy  ms w4
o oo ms  weasy me se |
w0 cmawors e w  wassy  me w4 |
e o7 e mas  wamey o e |
o Gmaors e w  wassy  me | me |
o G o wo  wpassy s as |
o G w0 mas  wmamey o e |
o oo w0 mas  wpamey @ o |
ooz mas  wpassy o sma |
e oo wes  uas  wassy o we |
s cawoiss e mas  wmamey o e |
o Gramerk e e wwassy @z n |

720 GHA400199 120 100 M12X1.25(4S) 54 60 N

16



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

ooz e mas  wmamey e wr 1 |
ook e we  wpassy @z n |
s omaozo w0 mas  wmassy @ s
 omaaoze 0w  wwassy e ez |
o ommoza w0 w0 wpasey s s |
oz w0 mas  wpassy e w |
o ooz s w0 wmassy s o |
s ooz e mas  wmasey @ on |
ooz e mas  wmasey @ o |
o Graoe e e weasy s es |
4 ooz w0 mas  wmassy @ ms |
o ook s m  weasy  ms s |
s cmmozss s e wmasy v ma |
o ooz mas  wpasey o m |
o ooz o w5 wpasoy s ee |
1 ooz w9 mas  wpasey o w |
o Ghaozs w0 mas  wpasey o w |
s Gnaiozs w0 mas  wpasey o m |
v Gmmaoze e mas  wmasey @ o |
o omaozrs s mas  wpasey w1 e |
o Gmaozs e m  wwams ms owm |
o ooz w0 mas  wpassy @ w |

765 GHA400286 179 139.7 M14x1.5(6S) 77.8 49.7 v

17



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

oo Gmaozz w0 mas  wmasey @ w1 |
o Gmaos s w0 wpassy s o |
7o omaaoms  ses  ms  wwassy w1 ms |
e G e mas  wwasey @ i |
7 Gk e we  wmame e w
7o oAk mee w0 wpassy @s | mz |
7o o0 w0 mas  wmasey o m |
w0 Gaaows e mas  wpassy o ms |
e oo s w0 wwassy s w1 |
v oAk e mo  weasy e w1 |
o Ghaosss  mmr  mas  wpasey o s |
o Gmaoos  w s  wmamw sz mz  m |
o0 omaoos s we  wmame s wm om |
e manoe  m ws  wmase @ ms  om |
v Gmaazoos  ms w0 wmaswe s  ms om |
e Gmazor e e wmame » m  om |
o Graswosk s w0 wmase v ms @ |
w0 oAz ms w0 wmase s  ms  om |
0 Gmazms e e woame »  wr @
0o oz ms w0 wwasy s w1 @ |
6o Gz w e wmame ws @ om |

810 GHA423001 130 100 M12X1.5(4) 60 36 23

18



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

Con G oo wmasey wz  m  m
o Gmazr w0 s wmase @z ws om |
s Gmazane ms  mas  wpasey s w  om |
oy omams  we  mas  wwamey w  om |
o omazans w0 wpasey s w |
o Gams  ms w0 wwasey s wmr m |
o ooz w0 wpasuy s ms  m |
s G w e wmame »  we m
ooy w0 woamey  » wms  m |
o otz s we  wmame e me m |
o1 omaasis  mes s wmame  »  w  m
w0 oAk @ w0 wpamey @ w  m
ws  omaasos wz  mas  wpasey o % m
o oo e e wmasy w2 we m |
wo oot s mas  wmasey e | m m |
1 Graastosk o w0 wpassy  swe w1 m |
o Gt ms w0 wpasey s ms m |
s oAz mr w0 wpasey s ms m |
7 cnaaeize w9 mas  wassy @ as m |
o Graseoak s w0 wpasey s ms  m |
o1 Grasoak  mmz w0 wpasey » w  m |
oo Gt w0 mas  wpasey o ms m |

855 GHA427003 138 100 M12X1.5(4) 57 35 27

19



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

Cwo Gz e mas  wmasss e  w  w |
oo Gmazioos w0 mas  wasey o m @ |
w0 Gz w9 mas  wmassy o w @ |
Gz wo  uas  wamey o ws @ |
oo Gz w9 mas  wpasey o o @ |
o Gz | wz  mas  wwasey o o @ |
o onazies s w0 wpamey sme % @ |
o0 Gmaaeos 9w  wwasy o osms  om
on s w9 me  wwasy o we  m |
ou Gramss  me mas  owm o m om |
oo onaaeze  mez w0 wwassy @z ws @ |
o0 orassoz w0 mas  woames o ws  m
w0 Gasos o mas  wpamey o w  om |
o Gz a  mas  wmpassy o 0w |
oo Ghaaoor sz mas  wpasey s @ w |
oGm0z mmr  mas  wwassy e ae  m |
wo G w0 wpasuy  sws  me m |
w0 Gmamos o mo  wmasy e m  om |
om0 w5 mas  wpasey sws % om |
oo Gmaame o w0 wmase me m |
o ooz s mo  wwasy  m sz m |

900 GHA499001K 80 65 10.5(4) 785

20



Hub Assemblies

Basic Dimension Table-G-AP t0 DIMENSION. .. ..o e e e e e e,
N
2 \}Tﬁ!
; A
L 1

911 GHA499084 140 114.3 M12x1.5(5S) 60 75

21



Hub Assemblies

Contents of Complete KitS......ovu i e e e

I e N NS
(5 ewamo< 1 1y
I S AN 2 B R T
(o ewamow 1 1
(u ewamowc 1 1y,
I Y R O N A N N
IS I N A S R R N
I I s A S N I
(o owaswe 1 1
I s R R B N R T
I I s A S NN T
(s owamwe 1 g,
T A A A R T
I I R A N N T2
IR I O T A e A R N
( ewames .y
(s owamom 1
I s A A E R I T
( owamomc 1 g
TR N N S N R
R A S A S O
R s O A A R I N
I s I E A R T
I S o S NS (T
I N O S A S N
I O A N N -
I S I s A R I
I s O N B -

22



Hub Assemblies

Contents of Complete KitS......ovu i e e e

(o owamoen 1
(o owamore 1y,
I N S s A S N O R R
T N B B
R s N O N
I O I A S N I T
I I S R M
I I S S NN B T
I R A S B B I TS
R s R A B S N I 0
IR s AR S NN I
IR S N N N I T
Y N O A R M
R S R A A S R T
R N O e A S M I N
RTINS Y O A SO R R T
R S S S N S A N B T
(o5 owaow 1y
I s A S SO T
R I S A O
I N S N A N I
Y I s A A N R
R I S S s A S A R T
A I S A O O NS (T
R I N A S N
IR N A A A R R
I N s A R 2
(s owmoon 1 1

23



Hub Assemblies

Contents of Complete KitS......ovu i e e e

(o owmows 1
w1 g
Y s O O B R
R T N A A N M I
A A O S N
v S O R A A N I
TR N A S A e B R N
R N O A S N B
(s owmmow 1 gy
i owamos 1
I N A O B O N I
T v I O A A N T
Y S S O A R S
Y I S S R A B N N
Y S I R e A R N T
R S N S Y O A SO S R M
R S O S A N I
R I S A S A R R
S N O A A R B T
A I S A S A N T2
s owmmon 1
R I O A A R
I e O R S R R
R N S N O N N
A I s O A A S N
R S A A N R 2
i ommeosc 1y
IR A S S N

24



Hub Assemblies

Contents of Complete KitS......ovu i e e e

A I I N S S T2
IR S S S B I
TR S O O S A R I
R N A A N R A T
RS I A A N N I 2
A S O N A A N
R S S S A M
IR N O A S N O
R O A S B S
s w1y
A O Y N A O N I
IR O O A A N I
R S O A R R T
R I S R A A N N I
R I O e B R R I
A N N S A S S A R
R I A N N A T W A S S T
(m owasoon s g
R N 2 S A A R N I
R I N A R N A W R
I S O A A A N O
I S A B A S R I T
e S O N S R R T
e I T S B S N 2
R N N N E A N S S T N
A I O A B 2 R B
(o owemow s
T N O A R R

25



Hub Assemblies

Contents of Complete KitS......ovu i e e e

I T N ™
A I O A SO B R O 2
o I s O S R R -
o owamos 1 4 g
R N S A A S N
I A S A N B0
A I T S A R R
R N O O S N O
R T R A A B B T
o ommosa 1y
R S s B S N N
A I O A N
w1y,
R I S O S R A A N N N
I N O e B R N -
S N S E O S R R T
A I N S S A R
R I Y (A M N A
R S A A R S B YT
R T N O S AN O R R
R I S O A A S N O
A I s S A A R R T
R T S A S R R T
R I S Y R N N S N T
(o owmoms 5,
0 I T O N O R R R N
S I S T A A A W N =
BRI I T R A S R N

26



Hub Assemblies

Contents of Complete KitS......ovu i e e e

(m owmo s oy
(s w3 gy
A I S T S R S R R
R S A A A N
R 2 A O S N O
R 2 R F N A N N T
R Y S N S N M 20
A I 2 s N S N B
7 T S I S B SO N
I 2 s R N B A N -
I s BN S N
I S O S A N A
I N O A N O 2
I N A B N N
R N O e A S N O
R S N SO A N O
R N S S B O
A S s S E E E N N T2
(> oweonsc 4
I S A S A R
I A N S B O T
R S A A A R T
I A A S N R
e N B S S T
T S O A S R T
I O A A R R T
(s oweorns 4
T S S B ™

27



Hub Assemblies

Contents of Complete KitS......ovu i e e e

I T A N S S BT
I S S A N O 2
R N 2 s O A S A R T
A2 I A B N M
R S A O S N O
I O A A A N N
R R T O A S B e A R
R I O O S S N W O
A N N R A A N W I T
T O s A R N R R N N
I N A O A W I
R I 2 O R B N R N U
R S A S S N
A I S O A R R R D R
R I S O e A S N A
 owmonsc 1 1
(o owmowec 1 1
R O M N 2N
A S O A A A B
R Y S A S A R N
( owmowec 1 1
( owamor 1 gy
e A N S N R T
A I T S B S R 2
R N T O N N A O S R
I T A A N
I A A A R
I A A S N

28



Hub Assemblies

Contents of Complete KitS......ovu i e e e

(o owmow 1,
R S O A A N R T
R s O W O R R T
(a5 oo g
I A S S N W
I A R S N N I N
R N T O A S A B S A R N
R N S O B S W BT
Y R A A A B T
A O R N B N N T
R I R AN B S RN T
T O O A A N
R S A R N -2
(s owemon 1,
A I O e A R N T
R N T N R S R R T
I T S N S S R B
(a w1y,
2 S S A A N I
R Y I S A R T
I 2 O A A N N O
S N A A A R =N
I e S e R RN

29



Bearing Kits

Basic Dimension Table-G-AP to Dimension

/S | [}
LN |
=R O i
W ca |
VK L
AN o CITLLTE
BASIC DIMENSIONS(mm)
ID G-AP Ref. ABS | MAGNETIC POLE
D d B/C
1 GWBO0001 75 42 37
5 GWR0504 39.878 17.463 13.843
50.292 26.988 14.224
45.237 19.05 15.494
3 GWBO0526
59.131 31.75 15.875
4 GWR0528 39.878 17.463 13.843
50.292 29 14.224
39.878 17.463 13.843
5 GWBO0529
50.292 29 14.224
39.878 17.463 13.843
6 GWBO0534
50.292 29 14.224
7 GWBO0540 a2l £ 15
58 32 17
8 GWR0542 45.237 19.05 15.494
50.292 29 14.224
9 GWBO0575 68 39 37
10 GWBO0577 62 34 37
11 GWBO0593 64 34 37
50.005 21.43 17.526
12 GWBO0596
65.088 34.925 18.034
42 20 15
13 GWBO0652
a7 25 15
14 GWBO0663 64 34 37
15 GWBO0687 59.974 34.988 15.875
16 GWBO0736 72 39 37
17 GWBO0739 63 38 17
18 GWBO0740 59.974 34.988 15.875
19 GWBO0741 59.974 34.988 15.875
20 GWBO0754 72.06 39 37
21 GWRB0756 39.878 17.463 13.843
59.131 31.75 15.875
22 GWBO0757 84 45 39
50.292 29 14.224
23 GWB0802
67.975 40.988 175
2 GWR0826 50.005 21.43 17.526
65.088 34.925 18.034
25 GWB0827 90 40 23
52 25 19.2
26 GwB0828
72 35 24.25
27 GWB0841 80 40 19.75
28 GWB0882 72 35 33
29 GWBO0897 59.974 34.988 15.875
30 GWB0898 59.974 34.988 15.875
45.237 19.05 15.494
31 GWB0904
50.292 26.988 14.224
32 GWBO0906 66 35 37
33 GWB0909 84 42 39
72 35 17
34 GWBO0910
62 35 19
45.237 19.05 15.494
35 GWBO0911
67.975 40.988 175

30




Bearing Kits

Basic Dimension Table-G-AP to Dimension

<
i

\.@E, 77
A

S /\/r@

BASIC DIMENSIONS(mm)

D G-AP Ref. ABS | MAGNETIC POLE
D d B/C
36 GWB0915 82 42 36
37 GWB0918 68 a1 19
38 GWB0919 68 21 19
39 GWB0926 45.237 19.05 15.494
57.15 26 17.462
40 GWB0927 42 15 143
58 23 18.3
41 GWB0928 3p 15 1
43 20 13.25
42 GWB0941 45.237 19.05 15.494
59.131 31.75 15.875
43 GWB0944 39.878 17.463 13.843
50.292 29 14.224
a4 GWB0947 45.237 19.05 15.494
50.292 29 14.224
45 GWB0949 63 38 17
26 GWB0961 52 25 3
47 GWB0962 82 42 37
8 GWB0969 52 25 37
29 GWB0975 52 25 23
50 GWB0976 55 25 23
51 GWB1306 64 34 3
52 GWB1314 84 45 39
53 GWB1317 72.06 39 37
54 GWB1320 75 22 37
55 GWB1324 68 40 19
56 GWB1326 74 37 5
57 GWB1327 66 35 32
58 GWB1333 50202 29 12224
59 GWB1340 74 38 36/33
60 GWB1342 68.02 35 33/30
61 GWB1345 61 28 42
62 GWB1347 84 49 43
63 GWB1349 58 30 42
64 GWB1352 45.237 19.05 15.494
62 31.75 18.161
65 GWB1353 45.237 19.05 15.494
62 31.75 18.161
66 GWB1355 75 39/41 37
67 GWB1356 82 43045 3
68 GWB1358 72 20 37
69 GWB1362 74 38 50
70 GWB1363 52 27 45/43
71 GWB1365 72 42 38/35
72 GWB1366 65.088 38.1 18.034
73 GWB1367 50.292 28 14.224
74 GWB1369 50.005 21.43 17.526
65.088 34.925 18.034
75 GWB1370 65.088 38.1 18.034
76 GWB1374 76.04 40 41/38
77 GWB1383 63 38 17

31




Bearing Kits

Basic Dimension Table-G-AP to Dimension

by

4

BASIC DIMENSIONS(mm)

D G-AP Ref. ABS | MAGNETIC POLE
D d B/C
78 GWB1393 % 55 2
79 GWB1397 67.975 40.988 17.5
75 46 18
80 GWB1401 66 35 33
81 GWB1410 68 35 37
82 GWB1412 84.02 45 39
83 GWB1431 60 35 13
84 GWB1432 72 39 37
85 GWB1433 59.974 34.988 15.875
86 GWB1438 72.04 35 33
87 GWB1439 7204 37 37
88 GWB1444 80 50 20
89 GWB1445 > 30 2
68 40 19
90 GWB 1455 59.974 34.988 15.875
91 GWB1459 72 39 37
92 GWB1465 45.237 19.05 15.494
62 35 18
93 GWB1466 85 45 30.2
94 GWB1467 84 49 48
95 GWB1470 79.975 44.987 24
96 GWB1473 59.974 34.988 15.875
97 GWB1480 75 40 37
98 GWB1488 80 42 37
99 GWB1491 72 40 37
100 GWB1498 45.237 21.987 15.494
59.975 34.98 15.875
101 GWB1499 52 25 22
68 40 19
102 GWB1905 7064 2715 27
103 GWB1909 73.431 45.242 19.558
82 50 215
104 GWB1911 72.02 37.99 36/33
105 GWB1915 73.431 45.242 19.558
106 GWB1928 63 38 17
107 GWB1930 62 e 14
62 35 14
108 GWB1931 22 25 15
47 20 14
100 GWB1948 80 2 5
110 GWB1950 72 20 20
111 GWB1951 73.431 45.242 19.558
82 50 215
112 GWB1956 80 40 19.75
113 GWB 1961 52 28 158
114 GWB1962 50.292 28 14
115 GWB1970 80 40 36/34
116 GWB1971 72 35 22/17
117 GWB1973 80 40 36/34
118 GWB 1999 76 2 38135
119 GWB3201 74.02 37.99 36/33

32




Bearing Kits

Basic Dimension Table-G-AP to Dimension

A 1 ]
\ /,-\ |
=B i
&\ oy |
o=\l e
AN o CITLLTE
BASIC DIMENSIONS(mm)
ID G-AP Ref. ABS | MAGNETIC POLE
D d B/C
120 GWRB3205 67.975 40.988 17.5
77.788 45.242 19.842
121 GWB3206 80 40 19.75
122 GWB3217 39.878 17.463 13.843
49 27 15
123 GWB3219 68 a1 20035
124 GWB3220 80 35 26/21
125 GWB3221 76 43 43/40
126 GWB3224 68.02 35 33/30
127 GWB3235 72 42 38/35
128 GWB3236 65 38 52/48
129 GWB3237 82 3 5
130 GWB3245 73 38 20
131 GWB3246 79 43 41/38
132 GWB3255 39.878 17.463 13.843
50.292 29 14.224
133 GWB3256 64 34 37
134 GWB3257 72 39 37
135 GWB3272 72 20 3
136 GWB3308 72 38 36/33
137 GWB3309 74 40 36/34
138 GWB3319 73.431 41.275 19.558
85 45 20.5
139 GWB3325 80 40 45/44
140 GWB3331 73.431 41.275 19.558
85 50 26
141 GWB3332 90 45 54/51
142 GWB3400 88 29 6
143 GWB3403 66 34 37
144 GWB3404 %5 45 20
74.976 45.987 18
145 GWB3405 12 30 2075
85 45 20.5
146 GWB3410 74 39 39
147 GWB3412 74 39 39
148 GWB3413 66 35 33
149 GWB3414 72.04 35 33
150 GWB3416 72.04 37 37
151 GWB3417 &9 50 20
90 55 23
152 GWB3420 77.788 45.242 19.842
153 GWB3421 77.788 45.242 19.842
154 GWB3423 825 44 37
155 GWB3427 85 43/45 37
156 GWB3428 % 55 23
157 GWB3429 g8 20 19
55 30 17
158 GWB3430 62 39 2525
75 40 26
159 GWB3434 >2 25 oz
73.431 41.275 19.558

33




Bearing Kits

Basic Dimension Table-G-AP to Dimension

<
i

\"@5’ 2
S
s s

S

BASIC DIMENSIONS(mm)

ID G-AP Ref. ABS MAGNETIC POLE
D d B/C
160 GWB3435 84 49 48
161 GWB3441 68 35 37
162 GWB3443 80 40 36/34
163 GWB3446 72.06 39 37
164 GWB3449 80 43 38
165 GWB3450 80 43 38
166 GWB3455 74 40 40
167 GWB3475 30 > 23
90 50 24.75
168 GWB3485 68 41 19
169 GWB3486 84 45 39
170 GWB3490 84.06 45 39
171 GWB3492 84.05 40 39/40 v 88
172 GWB3495 84 40 38
173 GWB3496 65 35 35
174 GWB3499 75 42 37
175 GWB3500 84 49 48
176 GWB3501 80 453 48
177 GWB3504 88.02 45 39
178 GWB3518 84.06 45 39
179 GWB3519 45.237 19.05 15.494
50.292 29 14.224
180 GWB3520 75.05 42 37
181 GWB3521 55 25 43
182 GWB3522 88 49 46
183 GWB3525 52 25 37
184 GWB3527 825 44 37
185 GWB3528 68.02 35 37
186 GWB3530 72.05 39 37
187 GWB3531 72.04 39 37 v 88
188 GWB3532 53.02 29 37
189 GWB3535 75 39/41 37
190 GWB3538 72.04 35 33 v 96
191 GWB3539 72.04 37 37 v 96
192 GWB3543 74 39 39
193 GWB3551 73 40 55
194 GWB3552 90 55 60
195 GWB3554A 72 37 33
196 GWB3556 52 25 37
197 GWEB3565 45237 21.987 15.494
68 40 19
198 GWB3571 61.8 35 40
199 GWB3572 52 25 42
200 GWB3574 90.06 49 45
201 GWB3575 75 40 37 N 64
202 GWB3577 66 35 33 N 96
203 GWB3581 72.04 37 37 N 96
204 GWB3584 82 42 36 v 96
205 GWB3596 72.04 37 37
206 GWB3598 74.04 37 37 v 96
207 GWB3599 82.5 42 37 v 96

34




Bearing Kits

Basic Dimension Table-G-AP to Dimension

<
i

\"@5’ 2
S
s s

S

BASIC DIMENSIONS(mm)

ID G-AP Ref. ABS MAGNETIC POLE
D d B/C
208 GWB3601 53 27 43
209 GWB3603 82.5 44 37 N 96
210 GWB3605 82 43/45 37
211 GWB3607 74 40 40
212 GWB3608 83 45 39 v 96
213 GWB3613 84 49 48
214 GWB3614 80 453 48
215 GWB3615 84.05 40 38/39.7
216 GWB3616 86 45 39
217 GWB3617 68 35 48
218 GWB3618 86 45 39 N 96
219 GWB3625 83 47 37 v 64
220 GWB3628 88 49 46
221 GWB3633 82.5 44 37 v 96
222 GWB3637 72.04 37 37 v 96
223 GWB3638 77 42 39 N 96
224 GWB3639 55 25 45
225 GWB3640 84 49 48
226 GWB3641 90 55 60
227 GWB3642 75 42 60
228 GWB 3645 96 51 50 v 96
229 GWB3647 75 40 37
230 GWB 3648 88 45 39 v 96
231 GWB 3649 86 46 39 N 96
232 GWB3657 72 37 33 N 96
233 GWB3658 52 25 37
234 GWB 3666 50.292 29 14.224
235 GWB3668 85.04 45 41
236 GWB3676 55 25 48
237 GWB3678 72.06 39 37
238 GWB3679 84 49 48
239 GWB3680 60 25 45
240 GWB3682 75.05 42 37 v 96
241 GWB3683 83 45 44 v 96
242 GWB 3684 69 38 39/34 v 64
243 GWB3688 80 42 46
244 GWB3690 90 55 60
245 GWB3692 83 45 39 N 96
246 GWB3703 68 35 39/36
247 GWB3713 61.8 35 31
248 GWB3716 47 20 i
52 25 15
249 GWB3717 47 20 14
52 25 15
250 GWB3718 72 40 36/33
951 GWB3727 73.431 45.242 19.558
82 50 215
252 GWB3729 72.02 37.99 36/33
253 GWB3730 72.02 37.99 36/33
254 GWB3740 90 40 23
255 GWB3765 80 40 45/44

35




Bearing Kits

Basic Dimension Table-G-AP to Dimension

8

<
i

\"@5’ 2
S
s s

S

BASIC DIMENSIONS(mm)

ID G-AP Ref. ABS MAGNETIC POLE
D d B/C
256 GWB3775 80 40 19.75
257 GWB3785 72.06 39 37
258 GWB3786 64 34 37
259 GWB3796 udl 20 15.25
52 25 16.25
260 GWB3797 62 35 14
261 GWB3901 59.975 34.98 15.875
262 GWB3902 74 39 39
263 GWB3906 80 40 36/34
264 GWB3907 70 38.1 37
265 GWB3909 80 42 36/34
266 GWB3916 68.02 35 33/30
267 GWB3917 68.02 35 33/30
268 GWB3922 68 41 40/35
269 GWB3929 71 38 39
270 GWB3936 68.262 34.925 20.638
57.15 25.4 17.462
271 GWB3940 74 40 36
272 GWB3945 82 43 45
273 GWB3946 84 45 45
274 GWEB3949 73.431 45.242 19.558
63 38 17
275 GWB3950 80 40 19.75
276 GWB3951 84 45 42/40
277 GWB3959 74 40 42
278 GWB3961 86 47.98 42/40 v 96
279 GWB3965 62 35 40
280 GWB3966 52 25 42
281 GWB3970 72 35 22/17
282 GWB3974 96 54 51
283 GWB3979 74 40 42
284 GWB3981 76 43 43
285 GWB3985 88 47 57.5
286 GWB3991 72.04 37 37 v 96
287 GWB3997 79 43 45
288 GWB6502 68.02 35 37 v 96
289 GWB6508 55 25 53.5
290 GWB6509 84 45 39 N 96
291 GWB6515 53.03 29 37
292 GWB6520 74 39 39 N 88
293 GWB6530 50.005 22 17.526
62 35 18
294 GWB6E537 45237 21.987 15.494
68 40 19
295 GWB6544 62 30 48
296 GWB6549 62 30 51
297 GWB6550 72.04 35 33 N 96
298 GWB6559 90 54 50 v 96
299 GWB6561 72.04 37 37 v 88
300 GWB6570 90 55 54 v 96
301 GWB6575 86 45 44 v 96

36




Bearing Kits

Basic Dimension Table-G-AP to Dimension

<
i

\"@5’ 2
S
s s

S

BASIC DIMENSIONS(mm)

ID G-AP Ref. ABS MAGNETIC POLE
D d B/C

302 GWB6578 84 45 39 N 88
303 GWB6590 76 42 33
304 GWB6591 76 42 39
305 GWB6632 85.05 45 41 N 96
306 GWB6639 58 28 44
307 GWB6640 52 25 42
308 GWB6643 72 40 36
309 GWB6647 84.06 45 39
310 GWB6653 72.05 39 37 N 88
311 GWB6658 55 25 43
312 GWB6686 >2 2> 22

73.431 41.275 19.558
313 GWB6700 % 25 25

95 60 23

314 GWB6720 78 40 40 v 96
315 GWB6721 90 55 54 N 96
316 GWB6805 79 38 45
317 GWB6812 74 39.09 36/34
318 GWB6820 52 25 42
319 GWB6825 73 38 40 v 96
320 GWB6830 84 45 42/40 v 96
321 GWB6831 74 40 42
322 GWB6845 74 40 36/34
323 GWB6849 84 45 45
324 GWB6856 72.05 39 37 v 88
325 GWB6878 75 40 39 N 96
326 GWB6891 84 45 41/39
327 GWB6901 90 40 28/23
328 GWB6923 78 42 40
329 GWB6926 80 40 40
330 GWB6938 87 45 41/39
331 GWB6944 76 42 39
332 GWB6956 76 42 39
333 GWB6966 64 35 37 v 72
334 GWB6967 70 38 38
335 GWB6972 80 42 45 N 88
336 GWB6975 58 28 44
337 GWB7016 84 45 41 N 96
338 GWB7032 62 30 48
339 GWB7408 80 43 40 N 86
340 GWB 7440 91 51 44 v 96
341 GWB7446 80 42 45
342 GWB7455 80 40 23/18
343 GWB7469 78 43 44 v 96
344 GWBT7474 50.005 21.43 17.526

65.088 34.925 18.034
345 GWB7490 74 38 40 N 96
346 GWB7525 58 28 44
347 GWB7526 72.08 40 36 v 88
348 GWB7534A 88 47 55
349 GWB7536 80 42 45 v 88

37




Bearing Kits

Basic Dimension Table-G-AP to Dimension

@

- N e
N 7\
=2 ¢ o ! 2 BN
(@@
d Pl
( |
BASIC DIMENSIONS(mm)
ID G-AP Ref. ABS MAGNETIC POLE
D d B/C
350 GWB7538 84 45 45 N 96
351 GWB7545 70 38.1 37
352 GWB7573 52 25 37
353 GWB7587 84 45 42/40
354 GWB7606 52 25 42

38




Bearing Kits

Contents of Complete KitS. ..o e e e e e e e

o oweess o 2 1 .y |
s Gweoss o 2 1 .y |
I T e O A S BN N BT
I T S N A BT
u ooweosr o 1 & g |
o Gwess o 2 1 gy |
(1 wees2 o 2 1 .o |
(v oweer o 2 2 .y |
o weors o 2 2 g |
n oGweo o 2 1 gy |
(m Gweorss o 1 . g |
(s weosr o 1 a1 g
I N T S R B A"
(o oweoes o 2 1 g
(w weosz o 1 a1y |
(% owees o 2 2 .y |
I S O 5 S S N AT
o Gweoe A 2 2 1. g |
(o Gweos o 1 a1 .oy |
(o Gweoes o 2 2 gy |
(o Gweosr o 2 1 2 gy |
(o Gweoes o 2 1 gy |
I T s O N Y2
I S S O S O N S S N W T
(o Gweoses w1 a1y |
I S S O N R B T

55 GWB1314 D 1 1 1 0.96

39



Bearing Kits

Contents of Complete Kits

I T S O W ™ 0
(o Gwmws o 1 .
(@ owmam e 2 1
(o owmmz o 1 2 a1 g
(o Gwmms o 1 1 . g
I O W S N BN ™ 1
(o owess o 2 1 2 o
(noowmmse o 1 | 2 .y
(5 oewee o 1 1. g
(s oGwees a1 2 a1 g
I T N B O BN ™2
IR R O A O 3
R O S N O Y2
(& ooweer o 2 2 g
(& Gweuno o 1 2 115 on
o oweum e 2 1o
(o oweum o 1 . g
I T S S O U BN ™ 2
RIS T O A N O B ™2
(s Gweuss o 2 1 g
(o owmues o 2 a1 g
(o Gweuer 1 1
o oweus e 2 1 2 g
I T O VO B ™"
(s Gweuss o 1 a2 e
IS R S S S N B ™ 2
I T S S O W ™

40



Bearing Kits

Contents of Complete KitS. ..o e e e e e e e

I S O A R N B
(ws owewsss o 1 1 1 ..y,
w oowews e 2 1 1 ...y |
(wo owewe o 2 1 1y |
o w0 o 1z . g |
o owers o 1z . g |
(s oweor o 1 s o . |
 owemos o 1z gy |
(oo oweo 4 1z . g |
I S N N S A R
I S S T S N N B
(oo owemy o 1.y |
I S S B R B
(oo owewss o 1. . g |
w owez o 1 .. g |
(w0 owes ¢ 1z . g |
(s owexs ¢ 1 2y
I Y O N A B 2
(wo oweaos o 1, .y |
s oweaos o 2 1y |
o owemrz o 1 1o |
(s owears o 1 1. g |
T 2 S T S S B TN
I T T 2 R S R S B
o owewz o 1 a1
o owewzs o 2 1 1. g |

165 GWB3434 G 2 1 1 2 0.60

41



Bearing Kits

Contents of Complete Kits

S T S S s N ™3
IS T O S O Y20
(o oGwews) o 1 4 g
(v Gwews e 2 a4 g
(v Gwewss o 1 . g
I T S S S N BN ™ 1
(vo Gwewss o 1 .. g
(o Gwes0 o 1 .y
(o Gwesos o 1 a1
S T S A BN 2
I G s O BN ™
S O S S B S SN ™" 3
R T O S O N O ™0
I VO A S O N BN ™ 2
(s Gwess o 1. e
o Gwes® o 1 i o
I S S N N ™ 2
(m ewessiA o 1 4
I T s S I O Y 20
7 T S S A N ™ 2
(o owess o 1 .
(wo Gwemse o 1 a1 e
(m oowesee o 1 ..
(mo Gweme o 1 a1 g
(ms Gwews o 1 a1 g
(ar Gwewor o 11 g
(me owsses o 1 a1

42



Bearing Kits

Contents of Complete KitS. ..o e e e e e e e

I S S S S N B A T
(25 owesers o 1 1.y |
(o owem o 1 1. g |
(2o owezem o 1 1., g |
(o oowese0 1 1.,
I T S S O S A T
(w5 oweser o 1 .y, |
I T S S A N B
I S S O S R S B S B S
I T S R A =
(o owese 1 1. g |
s owezrs 4 1 1.
I S S S R B R B
(o owezees o 1 1. g |
(s owesees 1 ..,
(o owesssz o 1 1.y |
7 R S S S S B N
7 N T S N e A
7 T T O N O S BT
R S 2 S S B N B SR
o owewes A 1z .,y
(s oweaes o 1 1 1. g |
A T 2 O S S B O B
(o oweor o 2z 1 g |
(o oowesse o .y |
(oo owessos o o .

275 GWB3917 D 1 2 1 1 0.58




Bearing Kits

Contents of Complete Kits

I T S S B O O Y2
(7o Gwemso o 1 2 a1 g
I T S A S O N BN T
I S T O S S S R ™ 0
(s Gwess o 1 . oy
(o Gweaes o 1 a1 g
TS S S N N SN ™ 2
I S e S O B SO ™ 2
(o Gwees o 1 ..o
(s Gwesess A 1 a2 g
S 2 T G S O O BN ™ 2
(o Gweesz o 1 a1
(o1 Gweesso o 1 . i g
(wo Gwees o 1 .
(w5 Gweessr e 2 1 e
7 O S S O W S ™ 2
(0o Gweess) o 1 .2 o
(o Gweess o 1 .11 on
(oo Gweess o 1 a1
S T O S S B O ™ 2
(o Gwmesz o 1 a1 g
(o Gweesm® o 1 a1 g
(m Gweessz o 1 a2 g
(o Gweesss 1 a1
(@ Gweesss o 1 a1 e
(ar Gweesss 2 1 . o
(@ Gweern o 1 .o g

44



Bearing Kits

Contents of Complete KitS. ..o e e e e e e e

(o oweern 1 1. |
(w5 oweerra 1. |
o owesws o 1 1.y
(oo oweees 1 .. |
(o oweszs o 1 1.,
(o oweeen o 1 1.y |
[ ws oweees o 1 1.y |
I S S S N B B 2
(oo owessor A 1z . g |
I S N O S R N
(o oweesm 1 1. g |
s owessas A 1 1 11 g |
o owesses o 1 .. g |
(o oweesz o 1 1.y
(o oweroe o 1 1.y |
(o oweros o 1 .. g |
(s oweras o 1 1.y |
oo owerss 1 1. g |
(w0 owerer o 1 o . g |
on w0 o 1 .|
(oo owersze o 1 1. g |
(w5 owerse o 1 1.,
(o owerswm o 1 ..y
(oo owers 1 .. g |
(o owers o 1 1.y

45



e e E G-AP Ref. | KIT
o= ) =
YEAR

ABARTH

500C (312)

1.4 (99 kW) 2011.01- Convertible Engine 312 A1.000 GHA425008

ALFA ROMEO

145 (930)

1.4 i.e. (66 kW) 1994.07-1996.12  Hatchback Engine AR33501 GHA425008
1994.07-1996.12  Hatchback Engine AR33501 GWB1439
1994.07-1996.12  Hatchback Engine AR33501 GHA230028 K
1994.07-1996.12  Hatchback Engine AR33501 GHA230090 K
1994.07-1996.12  Hatchback Engine AR33501 Without ABS GHA230044 K

1.4i.e. 16V T.S. (76 kW) 1996.12-2001.01  Hatchback Engine AR33503/AR38501 GHA425008
1996.12-2001.01  Hatchback Engine AR33503/AR38501 GWB1439
1996.12-2001.01  Hatchback Engine AR33503/AR38501 GWB3539
1996.12-2001.01  Hatchback Engine AR33503/AR38501 GWB6540
1996.12-2001.01  Hatchback Engine AR33503/AR38501 GHA230090 K
1996.12-2001.01  Hatchback Engine AR33503/AR38501 With ABS GHA230046 K
1996.12-2001.01  Hatchback Engine AR33503/AR38501 Without ABS GHA230044 K

1.6 16V T.S. (82 kW) 1997.09-2000.12  Hatchback Engine AR32102 GHA425008
1997.09-2000.12 Hatchback Engine AR32102 GWB1439
1997.09-2000.12  Hatchback Engine AR32102 GWB3539
1997.09-2000.12  Hatchback Engine AR32102 GWB6540
1997.09-2000.12  Hatchback Engine AR32102 GHA230090 K
1997.09-2000.12  Hatchback Engine AR32102 With ABS GHA230046 K
1997.09-2000.12  Hatchback Engine AR32102 Without ABS GHA230044 K

1.6i.e. (76 kW) 1994.10-1996.12  Hatchback Engine AR33201 GHA425008
1994.10-1996.12  Hatchback Engine AR33201 GWB1439
1994.10-1996.12  Hatchback Engine AR33201 GHA230028 K
1994.10-1996.12  Hatchback Engine AR33201 GHA230090 K
1994.10-1996.12  Hatchback Engine AR33201 Without ABS GHA230044 K

1.6i.e. 16V T.S. (88 kW) 1996.12-2001.01  Hatchback Engine AR38201/AR67601 GHA425008
1996.12-2001.01  Hatchback Engine AR38201/AR67601 GWB1439
1996.12-2001.01  Hatchback Engine AR38201/AR67601 GWB3539
1996.12-2001.01  Hatchback Engine AR38201/AR67601 GWB6540
1996.12-2001.01  Hatchback Engine AR38201/AR67601 GHA230090 K
1996.12-2001.01  Hatchback Engine AR38201/AR67601 With ABS GHA230046 K
1996.12-2001.01  Hatchback Engine AR38201/AR67601 Without ABS GHA230044 K

1.7 i.e. 16V (95 kW) 1994.10-1996.12  Hatchback Engine AR33401 GHA425008
1994.10-1996.12  Hatchback Engine AR33401 GWB1439
1994.10-1996.12  Hatchback Engine AR33401 GHA230028 K
1994.10-1996.12  Hatchback Engine AR33401 GHA230090 K
1994.10-1996.12  Hatchback Engine AR33401 Without ABS GHA230044 K

1.8 i.e. 16V (106 kW) 1998.03-2001.01  Hatchback Engine AR32201 GHA425008
1998.03-2001.01  Hatchback Engine AR32201 GWB1439
1998.03-2001.01  Hatchback Engine AR32201 GWB3539
1998.03-2001.01  Hatchback Engine AR32201 GWB6540
1998.03-2001.01  Hatchback Engine AR32201 GHA230090 K
1998.03-2001.01  Hatchback Engine AR32201 With ABS GHA230046 K
1998.03-2001.01  Hatchback Engine AR32201 Without ABS GHA230044 K

1.8i.e. 16V T.S. (103 kW) 1996.12-1998.12  Hatchback Engine AR38401/AR67106 GHA425008
1996.12-1998.12  Hatchback Engine AR38401/AR67106 GWB1439
1996.12-1998.12  Hatchback Engine AR38401/AR67106 GWB3539
1996.12-1998.12  Hatchback Engine AR38401/AR67106 GWB6540
1996.12-1998.12  Hatchback Engine AR38401/AR67106 GHA230090 K
1996.12-1998.12  Hatchback Engine AR38401/AR67106 With ABS GHA230046 K
1996.12-1998.12  Hatchback Engine AR38401/AR67106 Without ABS GHA230044 K

1.9 JTD (77 kW) 1999.02-2001.01  Hatchback Engine AR32302 GWB1488
1999.02-2001.01  Hatchback Engine AR32302 With ABS GHA230046 K
1999.02-2001.01  Hatchback Engine AR32302 Without ABS GHA230044 K

1.9 TD (66 kW) 1994.10-1999.02  Hatchback Engine AR33601/AR67501 GHA425008
1994.10-1999.02  Hatchback Engine AR33601/AR67501 GWB1439
1994.10-1999.02  Hatchback Engine AR33601/AR67501 GWB3539
1994.10-1999.02  Hatchback Engine AR33601/AR67501 GWB6540
1994.10-1999.02  Hatchback Engine AR33601/AR67501 GHA230028 K
1994.10-1999.02  Hatchback Engine AR33601/AR67501 GHA230090 K
1994.10-1999.02  Hatchback Engine AR33601/AR67501 With ABS GHA230046 K

46




e e E G-AP Ref. |KIT
) ) S
YEAR

ALFA ROMEO

145 (930)

1.9 TD (66 kW) 1994.10-1999.02  Hatchback Engine AR33601/AR67501 Without ABS GHA230044 K

2.0 16V QuaDrifoglio (114 kW) 1998.03-2001.01  Hatchback Engine AR32301 GHA425008
1998.03-2001.01  Hatchback Engine AR32301 GWB1439
1998.03-2001.01  Hatchback Engine AR32301 GWB3539
1998.03-2001.01  Hatchback Engine AR32301 GWB6540
1998.03-2001.01  Hatchback Engine AR32301 GHA230090 K
1998.03-2001.01  Hatchback Engine AR32301 With ABS GHA230046 K
1998.03-2001.01  Hatchback Engine AR32301 Without ABS GHA230044 K

2.0 16V T.S. (110 kW) 1995.10-2001.01  Hatchback Engine AR67204 GHA425008
1995.10-2001.01  Hatchback Engine AR67204 GWB1439
1995.10-2001.01  Hatchback Engine AR67204 GWB3539
1995.10-2001.01  Hatchback Engine AR67204 GWB6540
1995.10-2001.01  Hatchback Engine AR67204 GHA230028 K
1995.10-2001.01  Hatchback Engine AR67204 GHA230090 K
1995.10-2001.01  Hatchback Engine AR67204 With ABS GHA230046 K
1995.10-2001.01  Hatchback Engine AR67204 Without ABS GHA230044 K

146 (930)

1.4 i.e. (66 kW) 1994.12-1996.12  Hatchback Engine AR33501 GHA425008
1994.12-1996.12  Hatchback Engine AR33501 GWB1439
1994.12-1996.12  Hatchback Engine AR33501 GHA230028 K
1994.12-1996.12  Hatchback Engine AR33501 GHA230090 K
1994.12-1996.12  Hatchback Engine AR33501 Without ABS GHA230044 K

1.4 i.e.16V T.S. (76 kW) 1996.11-2001.01  Hatchback Engine AR33503/AR38501 GHA425008
1996.11-2001.01  Hatchback Engine AR33503/AR38501 GWB1439
1996.11-2001.01  Hatchback Engine AR33503/AR38501 GWB3539
1996.11-2001.01  Hatchback Engine AR33503/AR38501 GWB6540
1996.11-2001.01  Hatchback Engine AR33503/AR38501 GHA230090 K
1996.11-2001.01  Hatchback Engine AR33503/AR38501 With ABS GHA230046 K
1996.11-2001.01  Hatchback Engine AR33503/AR38501 Without ABS GHA230044 K

1.6 16V T.S. (82 kW) 1997.09-2000.12  Hatchback Engine AR32102 GHA425008
1997.09-2000.12  Hatchback Engine AR32102 GWB1439
1997.09-2000.12  Hatchback Engine AR32102 GWB3539
1997.09-2000.12 Hatchback Engine AR32102 GWB6540
1997.09-2000.12  Hatchback Engine AR32102 GHA230090 K
1997.09-2000.12  Hatchback Engine AR32102 With ABS GHA230046 K
1997.09-2000.12  Hatchback Engine AR32102 Without ABS GHA230044 K

1.6i.e. (76 kW) 1994.12-1996.12  Hatchback Engine AR33201 GHA425008
1994.12-1996.12  Hatchback Engine AR33201 GWB1439
1994.12-1996.12  Hatchback Engine AR33201 GHA230028 K
1994.12-1996.12  Hatchback Engine AR33201 GHA230090 K
1994.12-1996.12  Hatchback Engine AR33201 Without ABS GHA230044 K

1.6i.e. 16V T.S. (88 kW) 1996.11-2001.01  Hatchback Engine AR38201/AR67601 GHA425008
1996.11-2001.01  Hatchback Engine AR38201/AR67601 GWB1439
1996.11-2001.01  Hatchback Engine AR38201/AR67601 GWB3539
1996.11-2001.01  Hatchback Engine AR38201/AR67601 GWB6540
1996.11-2001.01  Hatchback Engine AR38201/AR67601 GHA230090 K
1996.11-2001.01  Hatchback Engine AR38201/AR67601 With ABS GHA230046 K
1996.11-2001.01  Hatchback Engine AR38201/AR67601 Without ABS GHA230044 K

1.7 i.e. 16V (95 kW) 1994.12-1996.12  Hatchback Engine AR33401 GHA425008
1994.12-1996.12  Hatchback Engine AR33401 GWB1439
1994.12-1996.12  Hatchback Engine AR33401 GHA230028 K
1994.12-1996.12  Hatchback Engine AR33401 GHA230090 K
1994.12-1996.12  Hatchback Engine AR33401 Without ABS GHA230044 K

1.8i.e. 16V T.S. (103 kW) 1996.11-2001.01  Hatchback Engine AR38401/AR67106 GHA425008
1996.11-2001.01  Hatchback Engine AR38401/AR67106 GWB1439
1996.11-2001.01  Hatchback Engine AR38401/AR67106 GWB3539
1996.11-2001.01  Hatchback Engine AR38401/AR67106 GWB6540
1996.11-2001.01  Hatchback Engine AR38401/AR67106 GHA230090 K
1996.11-2001.01  Hatchback Engine AR38401/AR67106 With ABS GHA230046 K
1996.11-2001.01  Hatchback Engine AR38401/AR67106 Without ABS GHA230044 K

1.8i.e. 16V T.S. (106 kW) 1998.03-2001.01  Hatchback Engine AR32201 GHA425008
1998.03-2001.01  Hatchback Engine AR32201 GWB1439
1998.03-2001.01  Hatchback Engine AR32201 GWB3539
1998.03-2001.01  Hatchback Engine AR32201 GWB6540

47




e e E F| R | G-APRef. |KIT
) ) L=z
YEAR
ALFA ROMEO
146 (930)
1.8i.e. 16V T.S. (106 kW) 1998.03-2001.01  Hatchback Engine AR32201 o |GHA230090 K
1998.03-2001.01  Hatchback Engine AR32201 With ABS o |GHA230046 K
1998.03-2001.01  Hatchback Engine AR32201 Without ABS o |GHA230044 K
1.9 JTD (77 kW) 1999.02-2001.01  Hatchback Engine AR32302 . GWB1488
1999.02-2001.01  Hatchback Engine AR32302 With ABS o |GHA230046 K
1999.02-2001.01  Hatchback Engine AR32302 Without ABS o |GHA230044 K
1.9 TD (66 kW) 1994.12-1999.02  Hatchback Engine AR33601/AR67501 . GHA425008
1994.12-1999.02  Hatchback Engine AR33601/AR67501 . GWB1439
1994.12-1999.02  Hatchback Engine AR33601/AR67501 . GWB3539
1994.12-1999.02  Hatchback Engine AR33601/AR67501 ° GWB6540
1994.12-1999.02  Hatchback Engine AR33601/AR67501 o |GHA230028 K
1994.12-1999.02  Hatchback Engine AR33601/AR67501 o |GHA230090 K
1994.12-1999.02  Hatchback Engine AR33601/AR67501 With ABS o |GHA230046 K
1994.12-1999.02  Hatchback Engine AR33601/AR67501 Without ABS o |GHA230044 K
2.0 16V QuaDrifoglio (114 kW) 1998.03-2001.01  Hatchback Engine AR32301 GHA425008
1998.03-2001.01  Hatchback Engine AR32301 GWB1439
1998.03-2001.01  Hatchback Engine AR32301 GWB3539
1998.03-2001.01  Hatchback Engine AR32301 GWB6540
1998.03-2001.01  Hatchback Engine AR32301 GHA230090
1998.03-2001.01  Hatchback Engine AR32301 With ABS GHA230046 K
1998.03-2001.01  Hatchback Engine AR32301 Without ABS GHA230044
2.0 16V T.S. (110 kW) 1995.10-2001.01  Hatchback Engine AR67204 GHA425008
1995.10-2001.01  Hatchback Engine AR67204 GWB1439
1995.10-2001.01  Hatchback Engine AR67204 GWB3539
1995.10-2001.01  Hatchback Engine AR67204 GWB6540
1995.10-2001.01  Hatchback Engine AR67204 o |GHA230028 K
1995.10-2001.01  Hatchback Engine AR67204 o |GHA230090 K
1995.10-2001.01  Hatchback Engine AR67204 With ABS o |GHA230046 K
1995.10-2001.01  Hatchback Engine AR67204 Without ABS o |GHA230044 K
147 (937)
1.6 16V T.SPARK (88 kW) 2001.01-2010.03  Hatchback Engine AR32104 GHA237018 K
2001.01-2010.03  Hatchback Engine AR32104 GHA230118 K
2001.01-2010.08  Hatchback Engine AR32104 GHA235018 K
1.6 16V T.SPARK ECO (77 kW) 2001.01-2010.03  Hatchback Engine AR37203 GHA237018 K
2001.01-2010.03  Hatchback Engine AR37203 GHA230118 K
2001.01-2010.03  Hatchback Engine AR37203 GHA235018 K
1.9 JTD (74 kW) 2003.06-2010.03  Hatchback Engine 182B9.000 GHA237018 K
2003.06-2010.03  Hatchback Engine 182B9.000 GHA230118 K
2003.06-2010.03  Hatchback Engine 182B9.000 GHA235018 K
1.9 JTD (85 kW) 2001.04-2010.03  Hatchback Engine 937A2.000 GHA237018 K
2001.04-2010.03  Hatchback Engine 937A2.000 GHA230118 K
2001.04-2010.03  Hatchback Engine 937A2.000 GHA235018 K
1.9 JTD 16V (100 kW) 2004.10-2010.03  Hatchback Engine 192B1.000 GHA237018 K
2004.10-2010.03  Hatchback Engine 192B1.000 GHA230118 K
1.9 JTD 16V (103 kW) 2003.07-2005.02  Hatchback Engine 192A5.000 GHA237018 K
2003.07-2005.02  Hatchback Engine 192A5.000 GHA230118 K
2003.07-2005.02  Hatchback Engine 192A5.000 GHA235018 K
1.9 JTD 16V (93 kW) 2003.09-2004.09 Hatchback Engine 937A4.000 GHA237018 K
2003.09-2004.09  Hatchback Engine 937A4.000 GHA235018 K
1.9 JTDM (85 kW) 2004.10-2010.03  Hatchback Engine 939A7.000 GHA237018 K
2004.10-2010.03  Hatchback Engine 939A7.000 GHA230118 K
1.9 JTDM 16V (110 kW) 2005.03-2007.09  Hatchback Engine 937A5.000 GHA237018 K
2005.03-2007.09  Hatchback Engine 937A5.000 GHA230118 K
1.9 JTDM 16V (125 kW) 2008.06-2010.03  Hatchback Engine 937A6.000 GHA237018 K
2008.06-2010.03  Hatchback Engine 937A6.000 GHA230118 K
1.9 JTDM 8V (88 kW) 2006.02-2010.03  Hatchback Engine 937A3.000 GHA237018 K
2006.02-2010.03  Hatchback Engine 937A3.000 GHA230118 K
2.0 (121 kW) 2002.07-2005.05 Hatchback Engine 937 A1.000 GHA237018 K
2002.07-2005.05 Hatchback Engine 937 A1.000 GHA230118 K
2002.07-2005.05 Hatchback Engine 937 A1.000 GHA235018 K
2.0 16V T.SPARK (110 kW) 2001.01-2010.03  Hatchback Engine AR32310 GHA237018 K
2001.01-2010.03  Hatchback Engine AR32310 GHA230118 K
2001.01-2010.03  Hatchback Engine AR32310 GHA235018 K
3.2 GTA (184 kW) 2003.02-2010.03  Hatchback Engine 932A.000 GHA242009 K

48




e E G-AP Ref. | KIT
Q D ==
YEAR

ALFA ROMEO

147 (937)

3.2 GTA (184 kW) 2003.02-2010.03  Hatchback Engine 932A.000 GHA425028
2003.02-2010.03  Hatchback Engine 932A.000 GHA230118 K
2003.02-2010.03  Hatchback Engine 932A.000 GHA235018 K

155 (167)

1.6 16V T.S. (88 kW) 1996.05-1997.12  Saloon Engine AR67601 GHA425008
1996.05-1997.12  Saloon Engine AR67601 GWB1439
1996.05-1997.12  Saloon Engine AR67601 GHA230028 K
1996.05-1997.12  Saloon Engine AR67601 Without ABS GHA230044 K

1.7 T.S. (83 kW) 1993.04-1996.04  Saloon Engine AR67103 GHA425008

1.7 T.S. (83 kW) 1993.04-1996.04  Saloon Engine AR67103 GWB1439
1993.04-1996.04  Saloon Engine AR67103 GHA230028 K
1993.04-1996.04  Saloon Engine AR67103 Without ABS GHA230044 K

1.7 T.S. (85 kW) 1993.04-1996.04  Saloon Engine AR67105 GHA425008
1993.04-1996.04  Saloon Engine AR67105 GWB1439
1993.04-1996.04  Saloon Engine AR67105 GHA230028 K
1993.04-1996.04  Saloon Engine AR67105 Without ABS GHA230044 K

1.7 T.S. 16V (103 kW) 1996.05-1997.12  Saloon Engine AR67106 GHA425008
1996.05-1997.12  Saloon Engine AR67106 GWB1439
1996.05-1997.12  Saloon Engine AR67106 GHA230028 K
1996.05-1997.12  Saloon Engine AR67106 Without ABS GHA230044 K

1.8 T.S. (77 kW) 1992.02-1997.12  Saloon Engine AR67402 GHA425008
1992.02-1997.12  Saloon Engine AR67402 GWB1439
1992.02-1997.12  Saloon Engine AR67402 GHA230028 K
1992.02-1997.12  Saloon Engine AR67402 Without ABS GHA230044 K

1.8 T.S. (95 kW) 1992.02-1993.06  Saloon Engine AR67101 GHA425008
1992.02-1993.06  Saloon Engine AR67101 GWB1439
1992.02-1993.06  Saloon Engine AR67101 GHA230028 K
1992.02-1993.06  Saloon Engine AR67101 Without ABS GHA230044 K

1.8 T.S. Sport (93 kW) 1992.01-1996.12  Saloon Engine AR67101/AR67102 GHA425008
1992.01-1996.12  Saloon Engine AR67101/AR67102 GWB1439
1992.01-1996.12  Saloon Engine AR67101/AR67102 GHA230028 K
1992.01-1996.12  Saloon Engine AR67101/AR67102 Without ABS GHA230044 K

1.9 TD (66 kW) 1993.04-1997.12  Saloon Engine AR67501 GHA425008
1993.04-1997.12  Saloon Engine AR67501 GWB1439
1993.04-1997.12  Saloon Engine AR67501 GHA230028 K
1993.04-1997.12  Saloon Engine AR67501 Without ABS GHA230044 K

2.0 16V Turbo Q4 (137 kW) 1992.01-1997.12  Saloon Engine AR67203 GWB1488
1992.01-1997.12  Saloon Engine AR67203 GHA425008

2.0 16V Turbo Q4 (140 kW) 1992.01-1997.12  Saloon Engine AR67203 GWB1488
1992.01-1997.12  Saloon Engine AR67203 GHA425008

2.0T.S. (104 kW) 1992.02-1995.02  Saloon Engine AR67202 GHA425008
1992.02-1995.02  Saloon Engine AR67202 GWB1439
1992.02-1995.02  Saloon Engine AR67202 GHA230028 K
1992.02-1995.02  Saloon Engine AR67202 Without ABS GHA230044 K

2.0T.S. (106 kW) 1992.02-1993.04  Saloon Engine AR67201 GHA425008
1992.02-1993.04  Saloon Engine AR67201 GWB1439
1992.02-1993.04  Saloon Engine AR67201 GHA230028 K
1992.02-1993.04  Saloon Engine AR67201 Without ABS GHA230044 K

2.0T.S. 16V (110 kW) 1995.03-1997.12  Saloon Engine AR67204 GHA425008
1995.03-1997.12  Saloon Engine AR67204 GWB1439
1995.03-1997.12  Saloon Engine AR67204 GHA230028 K
1995.03-1997.12  Saloon Engine AR67204 Without ABS GHA230044 K

2.5TD (92 kW) 1993.04-1997.12  Saloon Engine VM07B/VM31B GWB1488
1993.04-1997.12  Saloon Engine VM07B/VM31B GHA230028 K
1993.04-1997.12  Saloon Engine VM07B/VM31B Without ABS GHA230044 K

2.5V6 (120 kW) 1992.10-1997.12  Saloon Engine AR67302/AR67303 GWB1488
1992.10-1997.12  Saloon Engine AR67302/AR67303 GHA230028 K
1992.10-1997.12  Saloon Engine AR67302/AR67303 Without ABS GHA230044 K

2.5V6 (121 kW) 1992.02-1996.09  Saloon Engine AR67301 GWB1488
1992.02-1996.09  Saloon Engine AR67301 GHA230028 K
1992.02-1996.09  Saloon Engine AR67301 Without ABS GHA230044 K

156 (932)

1.6 16V T.SPARK (82 kW) 1997.09-2005.09  Estate Engine AR32102 GHA242009 K
1997.09-2005.09  Estate Engine AR32102 GHA230118 K

49




e e E G-AP Ref. |KIT
o= ) = =
YEAR
ALFA ROMEO
156 (932)
1.6 16V T.SPARK (82 kW) 1997.09-2005.09  Estate Engine AR32102 GHA235018 K
1997.09-2005.09  Saloon Engine AR32102 GHA242009 K
1997.09-2005.09  Saloon Engine AR32102 GHA230118 K
1997.09-2005.09  Saloon Engine AR32102 GHA235018 K
1.6 16V T.SPARK (88 kW) 1997.09-2005.09  Saloon Engine AR32104/AR67601 GHA242009 K
1997.09-2005.09  Saloon Engine AR32104/AR67601 GHA230118 K
1997.09-2005.09  Saloon Engine AR32104/AR67601 GHA235018 K
1.6 16V T.SPARK. (88 kW) 2000.05-2006.05 Estate Engine AR32104/AR67601 GHA242009 K
2000.05-2006.05 Estate Engine AR32104/AR67601 GHA230118 K
2000.05-2006.05 Estate Engine AR32104/AR67601 GHA235018 K
1.8 16V T.SPARK (103 kW) 2000.10-2005.09  Saloon Engine AR32205 GHA242009 K
2000.10-2005.09  Saloon Engine AR32205 GHA230118 K
1.8 16V T.SPARK (103 kW) 2000.10-2005.09  Saloon Engine AR32205 GHA235018 K
2000.10-2006.05 Estate Engine AR32205 GHA242009 K
2000.10-2006.05 Estate Engine AR32205 GHA230118 K
2000.10-2006.05 Estate Engine AR32205 GHA235018 K
1.8 16V T.SPARK (106 kW) 1997.09-2000.10  Saloon Engine AR32201 GHA242009 K
1997.09-2000.10  Saloon Engine AR32201 GHA235018 K
2000.06-2005.02  Estate Engine AR32201 GHA242009 K
2000.06-2005.02  Estate Engine AR32201 GHA235018 K
1.9 JTD (100 kW) 2002.11-2004.11  Estate Engine 192B1.000 GHA242009 K
2002.11-2004.11  Estate Engine 192B1.000 GHA230118 K
2002.11-2004.11  Estate Engine 192B1.000 GHA235018 K
2002.11-2004.11  Saloon Engine 192B1.000 GHA242009 K
2002.11-2004.11  Saloon Engine 192B1.000 GHA235018 K
1.9 JTD (110 kW) 2004.07-2005.09  Saloon Engine 937A5.000 GHA242009 K
2004.07-2005.09  Saloon Engine 937A5.000 GHA235018 K
2005.03-2006.05 Estate Engine 937A5.000 GHA242009 K
2005.03-2006.05 Esta